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1) mwn
a) MYOR"M
i) In2377 of the noo 3297 and similar mxn > won are N2 0N Naw1 Hnw 1od 27V

i) These activities are 1maw that are mox on naw only 131297 and are “nm» when
they’re P won for nod 129

b) xapy '
1) xwp

(1) It’s mox to do nxr for a nia Xnv on nawa Pnw noo 27 even though nRTT IS
only a maw and a n» Xnwv can’t bring a 11od 127 without the xTH

2) ~"wn according to the xo73 in our o°0197

a) "R2pY "% Y rvnw 27"

b) Meaning we know that this nxr7 is 7108 because we heard this from x2°py "
3) X"wann

a) better is the o3 of 2"y1 in >"wA that "% vaw °5777" — meaning 82°py " asked this
Xowp to YooK " because ®2°py ' had heard 2rvoox " himself say that the nxr is
0K

b) the xo7a of 2"y follows the 7%an of the X nx at .vo 77
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1) nntpn

a) See the prior m2>7
2) mwn as explained by x"wann

a) MYOR"M

i) A oo says "1yna" for quenw

il) 17v12 means “Y% ¥12p7 wAT2” and teaches that the oo 3297 must be brought on
10°1 7" even on naw and this applies to 1 won as well as to v nw

b) x2°py ' as explained by *"wA

i) The a1 for a7 on aRmY? *3°aw that’s a nod 127P% wan is also fixed for 7"
10°1 and still we don’t derive from 17v22 that this ax17 is naw amT

il) it must be that »7v1»2 applies only to mx» that involve the aia of the oo 1297
and not to 7°wan such as 121 125750
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1) First nnTpn

2)

3)

4)

5)

6)

7)

a)

b)

To derive a 1597 by mw 77°m from one 177 to a second 17 — the same word must
appear for both — and it’s not relevant that one 1>7 has a X7 or 71 that the other
doesn’t have

To derive a 12777 by 737 7m2 from one 17 to a second 17 the reverse 72 applies:
neither 7 can have a X1 or a X7Ip that the other doesn’t have and it’s not
relevant whether the same word appears for both

Second 7P

a)

The word "v7311m2" appears both for 7onn 3277 and oo 1297

X722

a)

b)

We first derive from a>71°% other than from 173122 that 7°nn is naw 7m7 and noo is
IRV M7

Then

1) by mw 5701 of 1 7ma-17vea
(1) we derive for 7an from nos that 70 is axmw M7
(2) we derive for nos from 7nn that oo is NaWw M7

maoin

a)

Note that
i) The x>0 here uses each "v7¥1m2" only as the basis of a mw 771

i) The %20 doesn’t derive *r17 of naw and nxmw from the plain meaning of the
word "y7¥172" as "% yapa unn"

IV A7 X2

a)

The xn>12 asks two ni>xw and answers both

maoin

a)

The details of the first 72xw and of the 72wn to the first 758w aren’t relevant but
it’s ynwn from the 7%x&w and 72ywn that it’s from the plain meaning of 17312 that
the xn>>1a is P> for om0 that naw 19°ox%1 and for nos that axmIv2 19708

Second 5xw and 721wn

a)

TR
i) why do we need a separate "173m2" for each of 7°nn and oo



b) n2wn to the first aoxw
i) o

(1) If y73m2 were said only for nn we’d say that the n1°n7 for naw and axmw
apply only for 1nn because it’s 7>7n and °93

(2) 1f y7ym2 were said only for mos we’d say that the nn7 for naw and nxnw
apply only for noo because noo is n122

8) mooin
a) Nwp

1) It can’t be that that the xn>92 relies on 1731m2-17v122 as the basis for a mw 7701
because if so it’s obvious that we need each 173112 simply to support the 7912
M and there’s no need for the Xn>12 to set out its kN>

i) So it must be once more that the xn>92 relies on the mynwn of 17v122 and asks
and answers this 728w and m2wn

(1) noxw
(&) Why do we need a separate "7v»2" for each of 7»n and ros

(b) One 7322 by way of its my»wan should have been enough to teach
IR naw n»n7 for either one of 1onn 1297 and nod 327 and we’d then
derive these nvn7 by 77 72 to the other j29p

(2) mawn
(@) *>x because we’d be 7191 the 737 7n this way

(i) 1 y7yma were said only for 7nn we’d have said that the n1°r7 for
naw and nxmw that are based on the mynwn of 17vaa apply only for
7nn because it’s 770 and 795

(if) 1f y73m2 were said only for nos we’d say that the nyi7 for nxmw
and naw that are based on the myn»wn of 17312 apply only for oo
because oo is N1

9) X"wann

a) We can accept the & that maoin brings from the first 75w and n2wn but we
have this x>wp on the &1 that m»on brings from the second 7%&w and 721wn

b) xwp
i) It’s possible that this is what the &n>92 intends by its second 1oxw

(1) Once we know by one separate 7% that nos is nxmw 7m7 and by
another separate 7% that 7nn is naw nm7

(2) Why do we need one y7vw22 for 70 and another 17vy22 for nos in order to
derive by mw 77°1x from nos the 7 of nxmw n»n7 for 7nn and to derive by
the same mw 1913 from 720 the 1°7 of naw n»n7 for nos

(3) When we could have relied on 7x:1 722 without any 17322 at all



i) And the xn»92 answers that we can’t rely on the 7% 722 because of the
XMoo 1x we set out earlier
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1) X
a) Mmoo

i) if 7nn that isn’t N2 Wy is naw 7mT then certainly nos that is 75wy is am7
naw

b) X271
i) maybe 7nn is naw nm7 because it’s 9751 N
2) mooin
a) Nwp

i)  Why not prove naw nyn7 for nos from the combination of 7an and 7% or
from X793 onoi onw

3) X"wann part 1
a) Apparently m»noin asks
i) First

(1) That the x7m3 ought not to be 7>797 the = m %R from 70 to nos based on
the 1°7 that 720 is 92921 70

(2) Because 77 proves that there can be naw n1n7 where there’s no 2°921 7°1n
i) Second
(1) we can also rely on this °mm %p based on an%n *nw alone

(@) Since an%n onw is naw nm7 although it’s not 79°7n or %2 and it’s not
nao vy

(b) 1w 9> that nos that’s N5 Wiy is naw am3
b) xwp

i) The x7na at .1v notes that ann *nw are 7 in that they’re needed to be =°nn
W

C) y»n— "I M) anon nwn"
i) Don’t be o the word "x793" in the X>wp of moon

11



i) mooin asks only that

(1) In response to the x37°o to the mm %p from 70 that 110 is M mn because
it’s °951 727 the &3 could have relied on an®n *nw to prove that it isn’t
necessary for naw n»n7 that a mxn be 9951 9770

(2) And

(@) we can’t be 191 this v m %p by saying that on%n *nw is nawa nx M7
only because it has the =17 that it can be w7 2°nn

(b) since either one of 7% and 7°nn can be used to be mo1 that there can
be naw n>n7 without being w7 2°nn

4) X"wnnn part 2
a) nnIpn
i) noo 901 and Moo *H0 are naw M7 because of

(1) the oo for moo that "o°n® nyaw wyn 1R2" that’s a time period that must
include one naw - and a similar p1oo for N> - as well as a special w17
from n2>*7v192

(2) And it’s to these 120w to which %97 refers when he says that there are
more than 200 "yroo" that are naw nm<

b) xwp

i) oo 50 and Mmoo "o that are naw nm7 include nxvn »Pyw that are m5ox1
and aren’t 9°25 — nor are they 7°7n

i) so why don’t we derive from them that ros is naw 7m7
c) y™n

i) nxvn >ww have their own special 2»n that 2955 X2

i) And that might explain why they’re naw nm<

12
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AR S
1) mwn
a) NPy "M
1) anmaw that could have been done before naw is Mok even mx» oprna on 27w
nawa Snw nos
2) XM
a) 121 171¥211°50 17 2MN 790 N0OW 1 Nawa 9"va
b) xwp
i) The person who was 121 11°20 was “nmn on naw to accomplish what he could
have done on naw 2y
i) And 2nn is more than a maw — it’s an XNMMRT NOK
C) y™n
i) they were 7 1R ann and 7° NKR?D A iSn’t an XNIIRT MO
d) xwp
i) But why wasn’t there at least an 73277 70K for a 708%» that could have been
done on naw 27w
e) yn
i) 7> nRD2 nn is IMn even 11277 in a myn 0Ipn because it’s XPOW X7
3) mooin doesn’t accept the y1°n of »"w and offers another y17°n instead
4) R"wamn
a) moon doesn’t accept the y1on of »"wA because

i) the xmx already used the X120 of 7 anx%5 to explain that for 7 x5 ann
there is no Xn>I87 MoK and that a 7 anx%2 A counts the same as every
other maw

ii) SO 7 TnKR?> can’t be used once more — this time to be <°n» the maw

13
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1)

2)

3)

4)

5)

6)

SP'NTY 2w W R BT RNDR T 1D 2ORMBY PR PIRAWR YN Par
P09 of mann
a) WY RN 92127 D21 MY DI T 1 W DRI 212 PR
Xn™ 32 at .10 77
a) amm M
i)  We derive from a certain 7% that "xy *192 77 a7 TR 537 10"
i) The o°vno of this 7% and of "7 TR %57 10" aren’t relevant here
b) mwaw
i)  We derive "jan 7nx 957 1n" from the pos of niann
X3 at .10 7
a) Nwpto anT ™
i) Why doesn’t 777> " derive "1 7nx 537 10" from the 0o of niann
b) v n
i) "7 " applies the p1oo of mann to teach a certain 7 of 213°%% "
X7na here
a) wp> w1 derives from the poo of mana that oo is axMIWVI DR M7
nvoIN
a) Xwp to wph v
i) We’ve established that 17vnw " relies on the poo of nimn to teach "7nx 535 10"
i) How does 1wnw '3 derive that riod is axmwvn Nk M7
X"wIn
a) Nwp
i) moown could have asked the same x>wp to 7 '

(1) We’ve established that 77173 " relies on the oo of minn to teach the 17 of
TYOR

(2) How does n7i "1 derive that noo is axmvT IR 7M7

14
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MDIND R PRYRAR TINMAY 5oy 1D 0 wAR YA K97 N0 297 0w ) 7'Ra
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1) opod
a) 'R oo
i) "woi2 Xnw 93127 921 M1 DI 7NN M INPWN DRI 212 PR "
b) '2 Moo
1) "W ek yInn 2w 772 .. [YI¥n2] 12 3AT WK 0 9"
2) xp»32at .o A7
a) v "M
i) we derive these 0°1°7 from 'R P10
(1) if ar and yxn were nonwn only from now mann

(a) it would have been enough for ' p109 to mention only n» xav which is
the lightest grade of fxmv and we’d have understood that an y17x must
also leave that mimn

(b) the additional mention of 21 ¥17% must be to teach that the two are sent
at least from two mann

(2) if ymxn were sent only from two minn

(a) it would have been enough for '} P10 to mention only ar which is a
lighter grade of axmv than y17x and we would have understood that
¥17% must also leave two nmann

(b) the additional mention of ¥71x¥n must be to teach that y~1x» is sent from
three mann

i) it follows that

(1) "2 poo that deals only with ¥y isn’t needed to teach that y1¥n is nonwn
from nama 'x and is available for a different 7w for y1¥n

(2) Namely to be pnan to an nwy the > for ¥71x» to be in the mann
3) X at 1o A7
a) Xwp
i) In fact a1 is nan from yMxn since only 21 IS 2w 20wWN2 Rnvn
ii) It follows that

15



(1) 'x o> needs to mention ¥y71x¥n» to teach that ¥y is nonwn at least from
"% 7 the same as ar

(2) "2 poo is needed to teach that ¥ is nonwn also from xaw» mann
(3) And "2 p1oo isn’t available to teach that the W% for vy1gn is qwy pnm
b) v

i) The reference to "ar 95" also includes >7p Yva and »p Sy isn’t 25Wn2a Xnwn
ni/7ATaY

i) So nwnw " is correct that since we count 'k P05 as also teaching that »p Hva is
nenwn from mann 2 from ar 921 and its combination of the 127 of ar and " Sva
we’d already know from ' p109 that yxn is nonwn at least from ™% mamn

4) mooin

a) There is proof that y71¥n as well as 2r and »p Sva that are 0121 to 71°ow mann are
n1o2 and that there is no wy? pnea for vyxn in this case

5) X"wann
a) Nwp

i)  Why doesn’t mooin prove that it must be that ¥71%¥n is 752 if he’s b1d1to MIMK
710w the same as ar and »p Hva

i) Because otherwise we couldn’t derive that a vyxn is nonwn from ™5 mann by
Tmm 2p from 21 and *1p because we’d have said that

(1) 2% nn and »1p Hva that are nonwn from ™% mann because no nwy? pn2 for
these o*xnw that avoids nn> if they’re 0131 to 7290w 7N

(2) while the W% for yxn is 7wy pnea and he’s not n32 if he’s d1d1t0 Hann
nrow

b) y1n

(1) So long as we haven’t derived by v m 9p from ar that a y1xn is nonwn
from ™% 7ann we can’t derive from '2 P09 that the > for y¥nis pnm
7wy? and it’s a Mu wo that he’s 152 if he’s 7170w 7I0RY 0101

(2) Because
(@) 'x Pod needs to mention yx» to teach that he’s n2nwn from two mann

(b) and "2 705 then becomes necessary to teach that y713n is n2nwn also
from 58w 13m0 and isn’t available to teach awy? pinm
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1) xma
a) Partl
i) m 5p from yaw xnw to ar

(1) Once | know that yw xnv that’s 2°p must leave 7100w mann it’s a 9mm op
that ar that’s 2w must leave 7300w a0

i) 9 9p from >7p Hva to yn

(1) Once | know that »p %va that’s 2°p because it has no m1>91 7y>75 must
leave mann "2 it’s a 9mm Hp that y11gn that’s 70 because it has vo
791 must leave miann 2

b) Part2
i) xwp to the amm %p from »p Hva to yen

(1) »p Svais Mnan because its axmw MW is M while the axmw Nyw of
mikall [N Xir

i) 1N

(1) In fact the nxmw 3w for *1p Hva is 2°p becase it’s Wpn R to 21 whose
IRMID MW 1S P

2) nmsoIn
a) Xwp on the amm %p from yow Riav to a1

1) yOw Xnw is i because its axmw Myew is Man while the axmw Myw of ar is
op

b) v
i) ™31 nn Xnw that leaving mann Mm% w doesn’t depend on the vn of axmw NYw
ii) Since the nxmw My w for nn xnw is 2°p and yet N1 &nv must leave 0w mann
C) Xwp
i) Then when the X nx asked maybe *3p is " because its M w is an

i) Why didn’t the X3 answer that n» &nv proves that mamn m>w has nothing to
do with the ami7 of the axmw MW

d) yrrn

18



i) nn &nw proves only that m%w from n1ow mamn has nothing to do with the mn
of the axmy N w

ii) It doesn’t prove that m%w from two mann» has nothing to do with the min of
the nxmw MYw

3) R"wann
a) Nwp

i) Instead of answering its x>wp on the amm 5p from »p 52 to yen by saying
that in fact the nxmw v w of »p Y2 is 9°p because it’s wpneR to a1

i) why doesn’t the X3 say that
(1) even if the nxmw My w of »p is i

(2) still 21 whose nxmw W w is 2°p proves that m%w from two ninn doesn’t
depend on the ami7 of the axmw MW

b) Firsty1n

i) The x 3 mentions that 21> wpn>x because the 17 in fact is that *1p is a1 wpnex
and its axmw MW is 2°p

i) Second y»°n
(1) We generally prefer to derive a 17 from one source than from two

(2) So here too we prefer to derive the rule for vy from >1p alone rather
than having to rely on both »p (which is 2°p relative to yxn» because »p
has no nn>191 7y»0) and ar (to prove that mann 2 12 m»w doesn’t depend
on the axmv MNY°Y)

iii) Third y»°n

(1) It’s also possible that the x7nx was aware of a x*wp that would be 7191 a
717 that needs to rely on both »p and a1

19
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1297 77T PR 12 aNNIARD 2'RT RYT RO IRD 27 nvwpT B! 'ownm aTth
IR 329 2R 25w PIYY WIPRY AT DWIP ROT WT NRR NOONT KO NEOWIT
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1) pos
a) "woi? XL 2121 931 YR DD 7amAn 12 WOWN PRI °12 X X"
2) xn»932according to nynw " as explained by the & mx
i) the oo teaches that y71xn is nonwn from niann '
ii) because
(1) if all three of y7xnI ar wo1 Xnw
(@) were only sent from ;2°0w mamn

(i) it would have been enough for the p109 to mention only n» Riav
which is the lightest grade of &m0 and we would have understood
that 317%1 21 must also leave that nann

(ii) so the mention of an y17% must be to teach that the two are sent
from at least two ninn

(b) and if y7¥m were sent from only two mann

(i) it would have been enough for the P10 to mention only ar which is
a lighter grade of nxmw than y11x and we would have understood
that ¥17% must also leave two mann

(i) so the additional mention of ¥ymx» must be to teach that ymxn is
sent from three ninn

3) R
a) Xwp

i) if the mo» had mentioned m>>w for ar but not for yx» we might have thought
that y713n is 9°p relative to a1 and isn’t sent from two Mann because y1¥n isn’t
WA 20WHA RHLA

i) so maybe the 7105 mentions ¥y71x¥» only to teach that he must leave two mann
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4) mooin
a) Nwp by X"w»von n" on the xwp of the X

1) The X na says in ;771 noon that ymxn is wpnx to 21 for another purpose whose
details aren’t relevant here

i) Now
(1) Since mxnnh W PR
(2) why don’t we say that
(a) the wpori also teaches that ¥71¥n is 2wway 20wn Rnwn the same as 21

(b) so that the x>wp of the X na is 7191 and the amm %p of Pynw "M is
restored

5) Twnn of maoin
a) "R 7D RN 12 OXY WRNURT RM°1 N1 amann? [19 oRT] X7 KO0 IR
6) X"wann
a) this is the apparent meaning of the qwni of mooin
1) mooin refers to the xwp of X"w>v1dn "3 and says
(1) R ROPD WD

(a) The x*wp or wn " isn’t valid 12 ax7 because if the rule of wp i P
nxnn? applied here to teach that yxn is also 2wy 20wn Xnwn

(b) Then

(i) Although the xwp of the &3 would be answered and the m 5p
of wnw "y would be answered

(if) We’d still have this X*wp: why does 1wnw " need to rely ona 5p
M to say we’d know yx would have been nonwn from nimn '2
even if y7xn weren’t mentioned — when nynw " could have relied
on the very same 555 of nxnn% wpn PR to teach directly — without
any vm Hp at all — that ¥1¥» is n2nwn from minn 'a the same as a1

b) x°wp on the apparent meaning of msoin
i) why does mooin decide that the x>wp of X"w>uvon " is T0M
i) say that his x°wp has two parts
(2) first
(@) to be 7191 the x>wp of the X3 to the 9mm 5 on which nwnw ' relies
(2) Second
(@) to ask why 1wnw "1 needs to rely on the v m 9p at all
c) 1IN
i) change the xom from
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(1) 10 ox7 (“because if it were true”) to "n1 )1 (“and even if”)
i) And explain the qwni of mooin this way
(1) It’s R"w»vdn n" himself who continues his ®wp and says

(@) %11 %3779 %9 meaning the 8wy of the x7m3 on the mm %p of Nynw
isn’t correct

(b) >»1>%1and even if you were to find some v1w°» not to use the wp> to
teach awm 2own for ymen so that we’d understand the x>wp of the xanx
on the °amm %p of Nynw "

(c) We’d still have this xwp to nynw "

(i) Why does nwnw " need the amm %p at all when he can apply the
wpon to teach that yxn is nonwn from nmiann 'a the same as a1
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.no 71
DNINNY X9'0Tni XA

9 9N K97 R 10 2MIRD M1 KW N7 anunnh RDWTE R [R TR 110 n7]
TWIOR RDT 3TURT 2NUARD PO YA IN N KAWL 771 912Y R Dra Raa N7a
2521 922 0N ANRPAIY D2 aMANRD IR NIn 2R aNRPIYD unn® 7

1) xn»a
a) Nw™M
i) yow yamd P va
b) xo°0
i) nn RPYI 77159
2) X

a) It can’t be that the Xw»1 teaches that >ap 9v2 and yaw van both have 27y nxmw
because we know this directly from the oo

b) Similarly it can’t be that the X5°0 teaches that 771 %312 and yw ¥ and nn &nv
both have 'r nxiaw because we know this too directly from the moo

c) So it must be that the xn»92 teaches the 17 we know only from w27 — namely that
all four are pr>nwn only from 205w mamn

3) X"wann
a) Nwp

i) Then why doesn’t the Xn»22 say more simply that all four are n>nwn» only
from nrow namn

b) v
i) although the nxmw 17 for all four is no w7 n

ii) it’s not a x°wp that the xn»92 prefers to teach their 17 on mann m>w in the
order of their xnw °1*7 namely in pairs

(1) »p 9ya and yow yaa whose axaw is 27y nrmw are nonwn from one mann
(2) 172 %v12 and nn R whose R is 't N are also nnwn from one mann
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N0 7T
3" 95n a"Tn

RO 971 9922 199ER "D Twava RRPIRD KDY 12 TvEn 1772 'O [2 Ty no 07

2™y 10N WD 7D 29977 "W RYTY By "D

1) mwnat:noAa7

a)

NP RN
i) In%2° n>°nn of Moo J27p isn’t NAw M7

2) mwn in Py noon

3)
b)

172 N nn is naw amT if the 7o nn s 2
172 n>°nn isn’t naw amT if the 75900 is *9o2

3) x) here

a)

b)

Xowp
i) The nyiwn are "mo each other
'aRbY
1) First mow
(1) The mawn here that says 1ox deals with 72 75°ni in a an% nb2° that’s a maw

(2) The mwn in P21y that says 2w deals with 72 72°nm in a nw2 nb2° that
isn’t even a Maw

i) Second nvw

(1) The mawn here that says mox deals with *%352 75°nm in a 7% nb2° that’s a
TN T1ORYN

(2) The mawn in 2177w that says ann deals with 7122 75°nn in a an% nba that is
only a maw

TR

i) Why doesn’t the second nv*w accept the first ow

721wn as explained by >"wA as understood by X"wann

i) 727201 in anwa’ N9 doesn’t count as a "7712°nn" because *3°19 T0n
721wn as explained by msoin as understood by X"wAin

(1) Tt can’t be that the mawn in P217°Y is 1°nn a 7w’ 12 so long as the 7>°nm is
772 becaue then when the 71wn adds "10K *952 Hax" the 71wn would teach
that *>22 r1>°nn is Mox even for a w2’ N2’

(2) And this isn’t 12non becaue w2 nH2° is °2°75 7191 even with a *232 12°nn
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.00 T2 INT DX 2" TNI AV'NY anl A" TN

JORARPT XTI 112 ORTIT V' IR 92 577 X7 R 7 0" R 1 N o ey 7'
92777 INWIP OXIIND A MWIWDAT 5T 90D TR T RY 2oy N0 2mnaT 1 R
DAY WO NN MR RDR RSWT 10 w"'yn Imwph weRT A"YNRT V' 7oAy
SRR IPIER R'DT IARP RURIPT XPR 12 R''RT 23 DY R 7OKRDR RIIT 0NN
M7 RPN JIRW PIWORD 1R D TURR KDY RN MRPTD M A TORDR
PIIT 1T AN BRITAY AN TORDR YWDR MMBRT 11297 279279 RUN niaw

o1 my

5oy 12 DYANRR TR WER RDT 2127 AN JINW X297 10 17 ax 17''72 nsoIn
BapH WADATD IR FTONDR M7 1KY DWW NAW MO KON N 209279 IR ON
YR IMIRYS WORT ATYRT DO '0IN7 'R0 RN XD 1A' "D RWRT KPR
MaRN TORDNAT X120 7 0% IND ROTT 10 N1 2N WO MR RUR R2WT 10

2PN STV IMRDY WO MIDDT K120 7 1o KON K" NNP

7Y BOYBT 1" Bar B'wamaa Doy "D WER RO WHR P2 P PRR 7''Na
"D PWSR 1T AR RDID ORI PO KD NOR RIT 97 PR 'ownd KK "0 quonw
PRT TOROP TI0UT RPN DINNRT RO 517 91 2%ab WP RIT RP Ry PN
B''57 7192 701 29aR WPAR TIROR T OR DI1NRaT B DR ROD WHR 12 PR

TR'TY TR KDY YR Taynb

1) mwn at :no a7
a) mwn
i) 721
(1) "y2a%n PvPM 2P MY WAT PPN 10D 127p nunw" are naw ams

(2) But 151102077 aren’t naw nm7 because although they’re only Pmaw still
DAW 27ynN ]ﬂ'lWVb AVOX

b) rwHR '
1) 121302577 are naw amY
i) Xwptopan
(1) since nos 12p NV Y IS NAw 7MT even though it’s a 773 7ORYN
(2) it’s a vm Hp that a maw is naw nm7 even where naw 29wn INMWYH TWoHR
2) nmoon
a) xwpof
i) how can qrv°%x " in the mawn apply a “»m 9p to argue
(1) from v nw where N2w 29y IMWY? WHR K7
(2) That a naw must be 2 even where naw 27yn 1MWY? WK
i) "v1" should be 7>97 this amm 5p
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b) y1°n as explained by R"wamn

i) 91v%X " himself doesn’t rely on this 2ym p at all becaue he holds that even a
7723 79897 that was naw 27vn mwy? qwsR is naw am7 if it’s a mxn Pwan

ii) Instead 7rv°ox " tells 1229

(1) Since you agree that a 7713 79857 is naw M7 where 27y IMYY? TWOR K7
naw

(2) The amin of 77 7oK%7 is so strong that the fact that muenw is anw on naw
at all —even if only where naw 29y» 1mwy> woR X7 — makes it 12non» not
to apply 17 and to be 2°nn a maw that’s °p even where 27yn 1Mwy? WK
naw

3) R"wann

4)

5)

a) Nwp

i) Why is it important for >3 in his y11°n to say that 213°9x% "3 himself doesn’t rely
on the amm %p

ii) The yyon of >" would apply just as well if 2139 "3 relied on the 2 %p and
held that m 13 MRS are i only if naw 27wn IMWYH IWwoR RS

b) v n

i) The purpose of *"1 is to teach that 21y°5x "1 holds that mxn s>won are nX PmT
nawn even if they’re mMna MoxYn» that are naw 27vn IMWY? WK

mnTpA to the Xn*12 on .wo A7

a) We established in the mawn that X%y >210 agree that o°a%n qvpn of noo 127p is M7
naw

b) It doesn’t matter that 2°2%n qvpPn comes after nwnw and naw IAR? AMWY? WOR
.00 77 Xn>*12 as explained by mooin
a) Xwp of ryHR " to 1320

i) It’s more 1anon that a mxn 2 won that a person does before the mxn is done is
naw nm7 than it is that a mx» 2°won that a person does after the mxn is done is
naw am7

i) so
(1) If a nwenw k5w men won (o250 Twpn according to mooin) that comes

after the mxn is done is naw nm7 where the m¥n Pwon is NRY IMWY? W
naw

(2) Then certainly a mxn 2°wan that come before the mxn is done should be
naw M7 where the 713n PWwan IS N2w 279 IMWY? TWoOR

iii) Note that
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(1) In the nawn the 7n of v nw as the 7% in the amm 5P of 213°5x ' is that
TN is a myn that’s a 77113 7ox) while the 2°p of the 7% is that it’s only
amaw

(2) But in the xn>>2 the v of the % is that it’s a m1¥n >won that’s nX M7
nawn even if after the mxn is done and the 9°p of the 2% is that it’s a
m¥n won that’s done before the mxn is done

b) xapy ™

i) you can’t reason from Pwon that are done after nv nw when we know the
129p 1S W

i) To pwon that are done before nv nw when it may yet turn out that the nmvonw
is 2109

C) MYOR"M
) Xwp
(1) if you’re wwnn that the 1297 might be .05 why is v itself naw nms
6) .vo~aT72 M7 OR "N
a) Nwp

i) how can 71v°5x ' prove from v nw that we’re naw M7 and aren’t concerned
about 9109 nar

i) Maybe

(1) we’re concerned about 7100 nar where it’s wax to rely on alternatives such
as doing naw 27y» a mxn °won that would be a maw if done on naw

(2) But not where it’s qwor &% to do otherwise for example v nw where the
mwnw needs to be done on nawa Hnw nos 27y and not a day earlier or a day
later

b) v

i) We’ve established that all agree that 0°2%n qvpn is naw 7m7 even though it’s
naw: nK? .Mwy? wok and this proves that it’s not relevant whether a qwyn is
TWHR OF TWHK K

i) And that’s why the "X of 21v°%x "3 from nv nw that we’re not wwn for 9109 nar
is valid and the &1 can’t be 7791 on the basis that we distinguish between
TwoR and WO R

7) H"wann
a) TP
i) moownin its first xowp earlier asked

(1) how can 21v°%& "1 in the mawn apply a = m %p to prove from mwnw where
naw 27yn MY woR X that a maw that’s naw 27vn 1Mwy? wak is also
naw am7
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8)

9)

b)

(2) 17 should be 792 this vm op
Xowp

i) Why didn’t maoin answer that 21v°%& " relies on 0°2%n qvpi to prove that
there’s no difference between qwox and waR X7

10 of H"wanan

i) moon holds that it’s obvious that the 7awn didn’t realize the relevance of
0°251 WP

ii) because it’s only the Xn>12 that deals with 2°2%n qvp: in the X0 ROpw
between 213°%% "1 and the x2py

R"WA in P10 PRY TR

a) X°wp to the y1°n of H"wamn
i) The fact is that
(1) Although o°2%n "vpn isn’t mentioned in the X 1 X2pw of the mawn
(2) the mwn does mention that 2°a%n qwPa is Naw amT
b) yyon of X"wann to the xowp of 2"wann
i) if 7rv9% "1 in the 7awn relied on 0°2%n qvpi to prove that there’s no difference
between wox and wor K
il) 1yoX " in the mawn would have based his full x1v1 X5pw on o°2%n “wpn —
including his amm %p — in the same way he does in the xn»12
iii) Instead of basing his =1 %2 on v nw and relying on o°25n 7wpia only to
overcome a X°wp that we ought to be porn between qwox and woR X7
I
a) First onTpi
i) We established earlier for the xn»92 at .vo 77 that 71v°9% "1 says that a 2woan
mxn that’s done before the mxn itself is done should be naw nim7 more readily
than a mx» 2 won that’s done after the mxn is done
i) so if a mx¥n 7°won that comes after the mxn is done is naw nm7 even though
after naw nR? IMWY? ok it’s a MM 9p that a mxn °won that comes before
the mxn is naw 7m7 even though naw 27yn MWY? TWwoR
b) Second nn1pn
i) unlike moaoin who explain that mx» 2>won in the xn*22 means 0°2%n Tvpn that
IS NAW NR? IMWY? WOR
il) °"wA says that the mxn 2°won in the X092 means v27p »1°» that must be done
on naw shortly after the 7u°nw and can’t be delayed until after naw
c) Third an7pi
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i) It’s not clear from the mawn and the &n>22 whether 1°29p "1 n counts as a
773 7oK1 or only as a maw

10) msoin
a) Nwp to"wn
1) Since 1m7p "1°1 can’t be delayed until after naw

i) what proof is 127p »°n that must be done on naw shortly after the v nw that
a mxn *°won that can be done before naw is also naw am7

iii) we ought to apply 17
11) R"wann at w7 or "7
a) moon established earlier for the mwn that

i) Without applying 7 we can correctly reason by mm 5p from a 93 7oK
that’s naw nm7 and for which it’s naw 27wn MWY? Twsk K that a maw that’s
naw 27yn IMWwY? WwoR is also naw amT

ii) because

(1) once you agree that a 773 71987 is °1mn on naw even if only where X7
Naw 27vn IMWY? WO

(2) The 1 of the 773 70897 is so strong that the fact that v nw is nmn at
all makes it 1anon not to apply 7

b) moown doesn’t use this 777 based on the i of a 77wa o857 to explain why in
the xn>12 we don’t say 1°7

c) Now
i) This is easily understandable if 277 »y°» is a maw and not a 773 71987
ii) But mooin is also understandable even if 12299 11 is a 713 719K
iii) Because

(1) in the xn>92 the 1 of the °mm 2p has nothing to do with the fact that the
T (for >"wn meaning 1°27p "1on) is a 7nx 7oK while the 7% is only a
maw

(2) And is instead that the % is 7avnex after nv nw while the % is 72vnR
before fvnw

(3) And this am isn’t strong enough to dispense with 17
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ANNNT AXTY 0" TN

By "2 I T R 20 TR MR T YT DURPY "D Nt NI ' 7a
1TARR 772 YW R'T TR0 T MRP RIINT IRTIRT R 9272 apn pIw B
277 RDT 7AINT NI 12272 IR DY 19 2920 R @ RDT RO M7 INT N2
Y% YRR RY ORI IRIINT IR 7ODT ORI KON V'R Wy KD XU aRwn el
AR TPIOR NINK 2PPD 12T 2N NAW ROMT KD XDV RIINT 2w 790N R
STIT 971 7TTYT TINTT NAWwa RYN 2109 R''NT 7057 UMW O'RWR JIMRPTS naws
TINTITT RIPORD B''RDY 22 PR OB PRwR RY IRINNT IR MO MMKRPT Y'Y naw
R 277 RD "2 3379000 DR BRI DD 90 0TRTD 571924 R0 IPYNARY R 07
DR RDIRT 179910 777 KD NAW M7 IR AODT SNTIT 1uRn Inbap b R b

I2'17Y 0TI DD T N2 2

1) mnpn
a) 1712 teaches that the v nw of noo 129 is naw M7
2) mwn
a) N2’ n>>nm oWNY YInn IR 1N2377" are pmaw that are 1oKX on naw
b) but on nawa Snw noo 27w the PNIaw are nod 127p M won that 219K ' says are
naw nm7 while X2°py ' says they’re no naw nm3
C) mwv by R2py " to WHR "
i) Since 1R isn’t nNaw 7mMT 0N 70 27 even though it’s a M¥» and is only as a
maw
ii) It follows by 777 71 that 151 102397 also isn’t naw 7m7 even though it too is a
mxn and is Mox on naw only as a maw
d) 7w by rYOR ' — 77 23K "N
i) Since muenw is a 773 7oK and is still naw nm
i) It’s a 9mm 5p that a1 that’s Moxk on naw only as a maw is naw 7m7
e) mwv by R2py " - " R"
i) If AR isn’t naw 7m7T even though it’s a mM¥» and is 7oK on naw only as a Maw
i) It’s a amm 9p that quenw that’s a 773 79RP7 isn’t naw M7
f) mwv by AryoR '
1) nwnw is naw amT based on 17yna
3) xn»2according to the &1»nx min of the xana as explained by mson and R"wann

a)

The xn> 12 sets out the same X w1 RPpw between 715 ' and ywir ' as in the
mawn and adds the following two mmpa

i) First
(1) 139x ' was sharply critical of the xwp of "m?n " by ywi ™
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i) Second

(1) ®2°py "1 said to T1yoHx ' that 37900 9% — don’t deny that you yourself
taught me that 817 is 790K on naw2 nw nod 27w

4) xma
a) Nwp
i) Since 71y°%& "1 himself taught that 7817 isn’t naw am7

i) How could 2rv°5& ' now apparently change his mind and say to x2°py " that
17 1% "%y and derive from v nw that’s naw 7m7 that it must be that nxm is also
naw am3

5) y1n of the & na as explained by npoin and X"wann at amanT axm A"y
a) ryHx ' had taught x2°py ' that
i) nxr for mmnn is Mok on naw because even mmnn nwaorn itself is 7Mo% on naw
ii) and that axsi for s 1297 IS °Mn on 2w
b) When x2°py " said "nawn nXk M7 KRw 1000 axia" he was referring to 0T axin
C) Nwp to RPY "
i) Why didn’t X2°py "2 make a p1%°11 between

(1) mmnT art that’s MOR on naw because even 0 nwnos itself is MoX on
naw

(2) And oo 1275 arr1 where 10D 127p NV IS NAWT DR M7
d) yrn
i) This ,%n wasn’t 12non to yw " as R"wnn will discuss further below
e) Now
i) when qr°%x " said to X2°py " that 77 23Kk Doy"

(1) 2rvoox ' thought that &2°py ' by mon axr was referring to nos 127p7 AR
becaue 82°py " held that it’s not 712non to be ponn between 107 axrI and
o5 1277 XTI as we’ve explained

(2) And that’s why 713" "7 argued that the p17°r is correct and that nxT
noo 12777 is in fact nawn nx M7 based on a ) m % from avonw

6) wxipon of the R
a) In fact

i) 919K " had taught X2°py " that nos 129p7 AX1T isn’t naw 7m7 because of a
771 of 29297 mwn2 Mk "7 A17vaye knw but had forgotten his own teaching

i) 219K " was wwn for m1vaye xew for nos 12797 nxi but not for other »won
mx¥n because for other mxn >7°won the fact is that 117 ®X7°n X123 but for the
>won of 1xt the X123 is Xnv and isn’t "1

b) x2°py "1 when he said "a77°m W"
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i) realized that v nw of the nos 129p is naw nm7 based on 17y1M1"

ii) but x2°py "y wanted to remind 13°9x ' respectfully and indirectly that 21398 ™
had once taught that nos j29p7 7817 isn’t N2w 7mM7 and to reason that 7257
nod 12777 and the other 1n12w mentioned in the mawn should also not be 1m7
naw

7) X"wan at mnT axm Aty
a) Nwp

i) Why didn’t 213°5% " answer that oo 1297 81 involves a X123 that’s not
while 1n2577 and the like involve *m7 X123

b) v n
i) 2ryHx " assumed that x2°py " held that

(1) Consistent with his nvw that it’s not 1anon to be ponn between 1707 arTa
and rod 127p% NI

(2) In the same way it’s not 1anon to be Porn between 17 X123 and X927 X123
Rix
8) ~"wn at nawn nwnwa 1"7 as explained by X"wann

a) °"wn here says that 21v°%x "1 spoke sternly to x2°py "y when ®x2°py ' asked K"
"ny7°n1 and apparently had forgotten the 7% of 17v1n2

b) But>"w in oon%xn 95 P19 says that 2139 ' spoke sternly to x2°py " only after ™
X2°py said *17°93n X and it became obvious that x2°py ' was aware of 173122 all
along and that x2°py 'y wasn’t treating 2rv°9& "1 respectfully when x2°py "y asked
q17°17 WX
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1) First nnipn

a) Nnby 910 agree that PP UMY on a ar Mav becase he automatically becomes
7w at wrw 27vn because Ry Xnn RwHw

2) Second TP
a) A yw xnv becomes miw at wnw 27w only if he was 92w during the day

b) similarly a nn &nwv on 9w >y 2w becomes v at wiaw 27 only if there was nxr
during the day

c) oXin disagree on whether 1pn umw for a yaw &nv who wasn’t 2210 or for a
nn Xnv who had no 1x17 based on whether we take into account that it’s o7°2 to be
1PN themselves by 1972w and nxin

3) Third an7pi
a) 1voxr "1 holds that on noo 27y
i) yw Xnw has no arn to be %210 to be 29va v for oo 127
i) anda n»n Rnv has no arn for X to be 27va 7w for noo 129p

iii) Even though the 1%°av and nxr7 would Rnby ¥919% result in PP pomw for
them

4) X
a) nvw of 727 as understood by X"wann

i) 1K " holds that 1P umw & for a yaw xnv who wasn’t 92 or for a xnv
nn who had no 117 and instead the o1 is 771 to 1w oo
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5)

6)

7)

8)

9)

ii) Now
(1) this alone that the 7or> is nr71 to "2 1105 doesn’t prove that he has no 21 to

be 921 or for nx1n because it’s possible that he’s nn7a only 72ay>72 if he
wasn’t 2>pn his 21n

(2) but
(@) there’s a %92 that "%mna% 120K ARMIVA PYIY N A0T71 TIAW 90"
(b) and there’s a second 77> that "7 X% Maxa RNYHT XN 70"

iii) and since the 112> has no 2vn to be %21 and to do nxr it follows that the
same applies also to a 7m

Twnn of the Xna

a) If a 2% or 7 are o°%y they do have a 7%°» 2 on nod 27w

e

a) this applies only on 12 nw nod 29y and not on nawa nw nod 27y
X"wama at 1 7R

a) Nwp

i) The & nx here deals with the iv>w of 21¥°%% " who says nod nixn 2 wan are
naw am7

ii) So the 7%°n 2vn should apply also on naw
Twni of the X ma

a) If m2°x was &nwv on 1w noo and brought no ax»wa 1297 then a 7 who was a
Nn R1HY 0N NWRN 109 can’t bring a 127 ON “1w 1o

"w1 as explained by X"wann at vo R "7
a) noRw
i) Why couldn’t m2°¢ bring xmva NwRa nod
b) nawn
i) The m2°x was ar and it’s only nn >Rt 2°% that are "nxmIva PWRY 70D 2pR"
C) noRw
i)  What 7r> now wants to bring a *1w nos
d) mawn
i) Only 211 of the 712 were 1ar on wRN mod
i) This 7 was from the v1w°» who weren’t 2°2r on NWKRA 110D

10) R"wann

a) This is the mv>w of 21 in P7X 73°0 P79 but HRmw disagrees
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TR PVMIRT KA D2 1'57 39 AR WPN T DY TEKRD NAT 2R PHY PR
7R 3R WPN NWWDAT PR UMY PPN VMY T9ISRY I ART MOD mewh 1Y
IP'TY MDD AR R Y'ORT DY DY KDY PO RRU DY PR PUMRT TWNT PN

1) X

a) We established in the preceding m2°7 that 2rv°%% " says that a person has no arn
to do 7%°2v and X177 on 39°1 7" in order to be 1L on " P

b) xa
i) This is because

(1) 213°%x% " holds that ypn pvmw for nn &nw on nos 27y for whom there was
no X1 because it’s 1702 of the nn X to be jpnn his axmw by axm

(2) and 13°ox "1 also holds that ppn pumw for yaw xnv who wasn’t 9210
because it’s 17°2 of the yaw &nv to be jpnn his axnw by 79020

(3) and by the v nw and np>1 these persons are X¥y their oo 1279 2 even if
in the end they’re not jpnn themselves

ii) Now
(1) It’s true that nxrm 7920 are needed for them to be able to eat the nod j12p
at night
(2) But 82097 X% 0°n1oo n9oK
2) XM
a) Nwp
i) A mwn in vmwl 7nn says that 7100 19215 Xow wonw

i) So the v nw ought not to be 7w> if made for a yow Rav or a nin Xnv who is
727282 MOK

b) y1n
i) VoY Row applies to 77 or 1p1 who can’t eat and for whom no ny>°n will help
ii) It doesn’t apply to a person who is j2n% 17°2
3) moown at ’mmn R AT
a) Xwp
i) 919K " at .vo A7 says that an 77y who is not 5» for nos is N2
i) Why doesn’t the 77y count as "192R" because jpn% 1722 by 79°n

39



4) X"wan
a) xwp on the x°wp of m»voIn

i) There is a special 17 for 57w that w105 nwn R 9w which in essence is the
same as saying that 1%y PP pPomw PR

ii) So obviously jpn% 1772 doesn’t avail for an 7Y
b) 10 to explain the xwp of 101N

i) The xwp of mooin is in fact why is it that for 57y the 17 is that >7 %v 1pn? 172
721 doesn’t avail to say that PP vumw for an 57y

c) wwp
i) If this is the x>wp of moown then mvoin should have asked directly

(1) How is it that xn%y *713 hold that oo nx mwn 1R 7w even though he too
is 3Pn% 1772

(2) When there is a 7x7 3%n who says that n» xnv %9 R Pomw because
N2 172
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"D RIP RDOR N7 DIN2 A 10D N0 R oYM R aon o v bar 1''Ta
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T RPI0D K97 RPR N2 57192 NORT N7 9 901 KD opa 1990 391 Pwsnh wann

TPy DD NIDDINT 12NOW MD PORD WIDK RIP 10D 23

1) mnpa
a) nwnw n a7 Moon at o A7

i) 219K " holds that 771 is naw 717 based on one oo and that 7%°n »won are
also naw nm7 based on a second 09

b) Note that

i) 219KR in the mawn at 70 77 says that nos 127 nw nw and [oo 127 Wwon are
both naw am7

i) But it’s not clear whether for 105 there are two o°p105 that teach naw n»n7
2) mwn at ;70 A7
a) NPy "M
i) Fornos
(1) mvomw is naw amT but 1 won that can be done before naw aren’t naw nm7
i) Fora»n

(1) a%n itself is naw nm7 but P won that can be done before naw aren’t nm7
naw

b) =1°9x) "1 holds that all P won are naw nm7
C) 277X A7 20
i) The n5%7 follows &2°py ' on oo
i) The n2%7 also follows x2°py ' on 79n
d) xwp
i) why does 21 nx 777° 27 need to say this 70%7 both for nos and 7%°»
e) yn

i) if 27 °9mR 7770 27 had said only for nos that mxn *won aren’t naw nm7 if they
can be done naw 27w

(1) 1 might have thought that for 7% the 172%7 agrees with 2ry°5x ' because
mn»™2 3" were 7770 BV 1101

i) And if 29 & 777° 27 had said only for 791 that mxn *won aren’t naw amy if
they can be done naw 27w
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3)

4)

(1) 1 might have thought that for oo the 712%7 agrees with 21v°%x " because
there is n1> for not bringing a nos 12p

maoin as explained by &"wann
a) Nwp

i) Why might we have thought for x2°py " that 1%°n is more readily naw nm<
because nn>12 3™ Y%y 10121 when we’ve established that 71v°9% "1 needs to
rely on an additional pos to teach that 7%°n > won are naw nm7 and he doesn’t
rely on mp»2a™

R"wAnn

a) Note that m»oIn can’t ask the same x°wp for rod 1277 because we’ve seen that
mooIn actually said at :ro 77 that we don’t know whether 213°%x " relies on a
separate oo to teach that noo »won are naw am7
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NPT XAl A"

INDY 12 299D 32w MW 9997 NAWA IR TOMD RV IRMRY AR "D unpTR XM '
ARTY 12 DI2UTD MORT 190 NAWR OKR TID RY INMR NART PRI Doy "D RO XD
NAWR IDIA NN RDODR MIWPRY 709 RAOIT 2" 1"0 NIAT 2R DIANRR MPaun
T PR D72 7' DRaT PODIPR RNDR 9IS 7197072 2109 MDY 21 wpn R9Y XY
1950 72 PRI AR RN 77910 MWEY 790 RITOIT DI2URY I NAWwR DAY Doauny

B!y PIDIY

1) First nnTpn
a) Ay is used mainly for oxy naw
2) Second TP
a) 12°2v is needed to be Tvn a °%> that’s Xnv
3) Third 7P
a) It’s 70X to be 221w a°%> on naw and 2w ar
4) Fourth mnpn
a) 1327 say that 7" naan isn’t naw M7 and that axy n9°2aw is amn for 7" nanan
b) Xnby "9 agree that oxy nvaw is M for 1"v naan
5) xn»M2
a) oo

i) If y21x1 finds a oo on j0°1 7™ he can be vmw with it right away without 77220
because if it were xnv then nynw who lost the 120 would have been %210 it on
10°1 2™ to make it available for v nw of the nos 129p on o1 7™

b) y2p7 XM
i) if 12 finds a y°o1p on j0°1 7" he must be °avm naw the yoo1p before he uses
it
i) y°91P7 RDD
(1) If 32381 finds a y»op on j0°1 7™ that’s r on naw etc.
(2) The 7 here isn’t relevant to this R"wAnn
6) N
a) noRw

i) Can the xw that says 17°avm nnw for y>o1p follow 1127 who say oxy naw is
amn for 7" naan

b) nawn
i) no
ii) because for 13127 no 7%°2v would be needed because we’d assume that waw
was 2210 the 77917 on j0°1 2" to use on 071 7" for oxy Naw

44



7)

8)

c) xwp byawpn

i) Maybe y>o1p7 xw does follow 1121 and deals with where 0°1 7" was %n1 on
naw

il) and since 1127 say that 7" n»a isn’t naw 7mM7 there won’t be any 7" N and
there’s no need for 17wnw to have been 521 the yooip

d) yy»nofaijxan—"anp7n"

i) Since y*op7 89°0 deals with j0°1 7" that’s 17 on naw it’s ynwn that yoo1p7 8w
doesn’t deal with paw

i) Soit’s correct that the mawn can’t follow 7127
nvoin
a) Nwp

i) Why didn’t the 1xn prove that 7927 X1 can’t deal with naw since n>*av
2°%3 IS 7MOR on Naw and 2w oY

b) y1n

i) The jx7n realized that the Jwpn would respond that it’s possible that the xn»12
means 77°2um anw after 2w oy

R"wIN
a) Nwp
1) Why didn’t the 1¥7n answer that

(1) If y0°13 7" was 21 on naw we’d assume that nwnw was 221w the yo:1p on 3™
10°1 before naw to make the v ¥55 to use for axy nvaw of 1"'v Naam on
10°11"v on Sunday

b) v

i) The yx1n prefers to use the x>wp of *anp7n to prove directly from the words of
the Xn>1a that y°9p7 Xw can’t deal with naw

c) Nwp

1) Why didn’t the 1¥7n answer that it can’t be that y>p7 ®w deals with where
70°1 7" is 911 on naw because then

(@) instead of distinguishing between a oo that j21%7 found on Snw 7™
nawa and a y>op that 1238 found on nawa 5nw 7™

(b) the xn>92 would have distinguished for y°o1p itself that 121% found on
10°1 7" between

(i) where o071 7" is 9112 % — where we assume that there was 77°av on
70°1 2™ to use for axy naw of 7™ navan on 001 7™

(i) and where 10°1 7™ is %1 on naw - where we don’t assume that there
was 712°20 0n 10°1 3™ since 7" naan isn’t naw M7 for 132
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d) yrrn

i) The jx1n realized that the ywpn would answer that for some reason the xn»92
prefers to deal with naw and to distinguish between a 120 that 12183 found on
nawa Snw 7" and a y>oIp that 32387 found on nawa nw 1"
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RNYTINT 7" NAAMT RN 720 720 INNTIT 127 0200 RDIN WM MK ;12T RP By
"13Y 0D NMATY ROP ORT 2"V 2''RY Naw AmMITT 0901 "M 70D AR AT 2whT W
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1) First nnpn
a) 1od J27p is brought from ovaw> and a°1y but not from 92
b) mwnat:no a7
1) oD j27p IS MW M7
C) mwn at :vo A7
i) Xnby 93 agree that 7" na»an is brought together with nos j21p

i) But 1127 say that 7" n»am isn’t naw 7m7 and is also different from noo 1299 in
other ways

d) xpmaat.yvay
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2)

3)

4)

5)

6)

1) X»°n 2 disagrees with 1127 and says that 7" na°an is in many ways similar to
noo 12°p — for example it’s Tp2a7 11 KR IRYT 7 A82

ii) because in the P1od "noo: an mar 7P2? 12 kN the words an nar mean ax%n and
10D means roo 127 and are 3 wpn to nos

1ii) But &n°n 12 doesn’t say outright whether he holds that 7" na°am is naw nm?7 the
same as mod 1277 is NAw am7

Second 7P
a) There is aj0°11"v naan as well as a 10°1 7" naan
b) We’ll establish that
i) 1"v naan is considered less 312p 111 than 7" naan

ii) and that the less ¥12p the 71 of a 127 the more it’s 1200 that the 1299 isn’t
naw ama

Third nnTpi

a) 1121°RNM7 12 7700 said that 7aam is naw amT and were wo from oonon who said
that 7x%m isn’t naw am7

b) We’ll see that *"wn and > deal with whether 1121 °xn17 32 77w said that 7" naoan
IS naw am7 or that 1"'v NI is naw amT

Fourth nnTpn

a) 27 explains that 1121 °8n™17 12 777 base their fv*w on what they say is a wp»n from
noD 127p to 30 in the P10 "1p21 IR POR 77 nod nman" where they say that
"IRY" means o and "Tp2" means mavan

XM
a) Nwp by wx 29

i)  Why does 21 take the trouble to explain the m105 of nnan as understood by
apialb!

b) xwp of the xmx
i) Why in fact do 1121 say that mxam isn’t naw am3
i) "R3T MNP RT R
iii) We’ll explain the quoted words below
c) y™n
i) 7327 rely on a 72 from a pios that begins with the words amx anum
i) The precise 1% isn’t relevant at this point
mow of »"wA as explained by &"wann
a) M21°RNMNT AN
i) refer only to 7" nxan and say that 7"> nxan is naw am7y
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il) X"wAmn points out that based on the mn7pi they can hold — but it isn’t required
that they hold — that 1"t n»x isn’t naw 7m7 since 1" na°an is less 112p 1t than
7" N3N

b) When the x7n3 asks that 7o should be naw 1m7 because it’s a M12°% 1277 the X ma
means that 127 ought to say that both 1"v na» and 7" N3 are naw am?
c) When the &3 answers that 1121 rely on amiam the X3 concludes that 3327 hold
that neither 7"> n3>an nor Y""v NXan IS Naw M7
"o 7" Al
7) mMooIn ? amT XNT 12
jhi=)l
a) L7 7 i | s ey
. M7 R M7 XY onm P
i) who says kN7 32 770 hold that

7" DA IS naw My

i) must hold that x°n 72 disagrees and says that although 7"> naar is similar to
nos 129p for many o°2°7 still unlike 1105 it’s not Naw M7

iii) because
(1) if xn°n 32 agrees with 1121 °RNM7 12 A0 that 7" N30 is naw amT

2) >wx 271 wouldn’t have been sur [)I'iSCd that 21 set out an explanation for the
mow of 1221 °8NMT 12 AN

1"0 7" Al
? amT RNMT 12
1
mT R N2°n 2
o Y 1217 bwp
mT R mT R aniam 1127

8) X"wnrn part 1 on"wn

a)

b)

since it’s more 7anon that 7" naan is naw 7m7 than 1"v naan and still x»°n 12 says
that 7" naam isn’t naw M3

it’s 7anon that that x»°n 12 holds that 1'v naam isn’t naw 7m7

o " R
? hink RNNT 12
i)
mT R mT XY oA alE!
M7 R? M7 R? 1M

9) X"wnrn part 2 on "wn

a)

b)

mooin could also have offered this other proof for »"w that it must be that 32 ®a°n
disagrees with *xnm17 12 7797 and holds that 7"> nxan isn’t naw am?y

namely

i) if x»°n 32 based on his wpei7 of "noo an nar" agrees with 1321 °kn17 32 5700 that
7™ AT IS nAw MY

i) why would 21 need to explain that 1121 °kn™17 32 777 rely on their own wp>i7 of
927 XY 77 oD NAn

iii) When 21 could have said that they relied on o557 a7 na1 the same as &»°n 12
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10) qwnn of mooin as explained by X"wAin

a)

b)

>"q disagrees with >"w and says that
1) X»°n 72 holds that nawn R 7mMT 7" N2An but "o NX°am isn’t NAWwT DR M7
il) 1121°8nM7 32 70 hold that Y'v naam is naw amT the same as 7" naan

i) "wx 27 is surprised that 1121 °kn717 12 A7 were w1 to say that 1"v naam is also
nawn nR M7

The x>wp of the X713 that "X17 712°% 1299p K71 R 2w °07 XD RPyL °81 132" insofar
as it applies to x»°n 32 deals only with 1"t naan since X»°n 32 agrees that 7" naan is
naw ams

In the Xipon the Xnx explains that X n 32 derives from anam that 1"v naoan isn’t
naw am7

o TN S
me amT 12 an
12 RNNT
mT R amT N2°n j2

11) xwp by " to the v w of »"wA

a)

b)

c)

d)

In 1% IX°X177 P79 in XY Noon the X na says that amT ¥1ap 1watw 93 77°2 X995 R v
"o11°2 19°5KR) NAW;T DX

For >"wA the 993 isn’t correct since 7" naan is certainly ¥1ap a1 and yet even 12
Xn°n says that 7" nxan isn’t AW NR M7

Possible y17°n to the xwp of >"1 on >"wn
i) The %53 is correct for 7" nx»n for 121 *kNMN7 72
X270 to the possible Y170

i) It’s a pm7 to say that the x7na sets out a %22 that is held only by persons who
were WMo

12) qwni of msoin

a)

b)

c)

d)

ToRW

i) Why is the %5 correct for the 7v>w of "

W

i) for>"1the %3 is correct at least for x»°n 12 who says 7" naan is paws nx m7T
Xowp

i) For " it’s still a X°wp that not even x»°n 32 holds that 1"'v naoan is naw am7
even though »ap 1nr because Pm>wn 1% w only for seven days

YN

i) For the purposes of the 523 only 7" nx»an counts as ¥12p nt because its 17 is
only one day

Rowp
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i) But we’ve established for " that

(1) When the x7n3 asks for x»°n 12 that "X 212°% 1299 0" the X7n3 means to
ask that 1"v nx»an should be naw M7 because 1"v na°an counts as »1ap anr

f) yrnas explained by X"wann at opn 9on 782

1) Inthe &1n& M when the X3 asked "12°x¢ 1292 &M the X373 in fact assumed
that 1"v nx»am was 312p enough to be naw nmT

ii) But once the xna realizes the vy n of omam it becomes clear that 7% w"
"1 95 pPmown isn’t 112p enough for 1" N to be naw amy

iii) And the X373 in 17 W°%177 P9 that says there’s a 975 that what’s 11 312p is M7
naw was said after the xipon here that decides that 1"v naan doesn’t count as
y12p for this purpose

13) qwnn of mooin

a) There is a xin who holds that "™2°¢ 129p" for the purposes of our &°210 means
simply a j27p that is brought x°o11°22 in a public gathering

14) x"wAnn
a) Nwp

1) Why doesn’t mpoin answer that it’s because 1"t na*an comes 01122 that the
X713 asks that it ought to be naw am7

b) v n

i) The Rapen in 12 w317 P10 explains that naw "7 depends on »1ap a1 and not
on whether a 1299 is brought in a public gathering

i) moown holds that the X723 here uses the term "max j27p" that implies &°911°52
only based on the xR 7137 in 17 Wwox)7 279 but actually means to ask am"
"y12p 1T

15) qwni of Mmoo as explained by R"wAmn at *pinT XM 7K
a) xwp to the qvw of >

i) the plain meaning of the 05 of nram on which 1121 °&kn717 32 A7 rely is that
it refers to 7" navan

i) Why does *xn17 12 7700 apply his 7% from nnan that moan is naw 7m7 to
'Y N

b) v n
1) 7™ N2 isn’t RNMIIRT
c) Nwp

i) A RDM2at XY A7 uses a RIpn 7 to prove that 7991 0ond 21wH nHIRI 7™ NAAn
IR

i) This suggests that the xn>92 holds that that 7" 72037 IS X0 KT
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d) yrrn

i) It must be that 121 °8n717 32 7777 disagree with the xn>12 and hold that naan
7" isn’t Xn»RT and the 17 of TR 7991 20 "1 NHaR1 doesn’t apply to naan
-f”’

16) R"wann
a) Nwp

1) Why doesn’t m»oin use the following y17°n to explain why 1121 °kn"17 12 apply
the p1oo of nnan to 1"v N and not to 7" nxan

(1) 121 °8xn77 32 770 agree with X»°n 12 based on the wpe1 in nos: an nar that
that 7"> nx»am is naw am

(2) and that’s why they apply the additional 71m°% based on nnan to 1"'v nxan
b) y1n
1) RNMT 20T can’t agree with the wp i of xa°n 12
i) because we’ve seen that
(1) the wpn of x>0 12 also teaches that m0am 1S7P27 T2 891 XY 12 782

(2) and this conflicts with the essence of the 712°% by 121 °xn717 12 777 that
922 N P2 IRY annan refers to aaan 1297
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XY QT
DIvn IX? n"1N

VI 9129 1IRW RO7T AR 12 RIP TTORR DN 10 2 XD 772 [R TRy KXY 7]
RADUT J10UT7 797 R AW IR ROR DAY DA 21 2003 707 RY R 9o "o eoha
D10 DY RO RIIIR RAVYA RPN SIAR PR 77927 957 K97 2107 'R 99 uynnT
TIOAT TR NNAR ORT 70 RPN PIED AR PRT 2MWN RAYY KNN3 INT ORRD
TMTOAT J19DAT 2 BN IR AR PRT 2R 'R 9 vynd Xo 'Y nnw nywa
D129 2 DR AR RUNR IR NYWa 7eat wa K97 mmb RDINT nnw nywa
TOIDT R2IN TWP AT RIMR RAYY 'R 902 790 R 700 'ownm oMwnsy "o
AW NYWA SIIAT 1902 RY ANTT ORTY KA 15 79T 1002 NAK ON IR InRwn
UMY DI 1R U 29ARRa S'RWR NAwST 212 TUMRY 129 PRT 2Wn

TP AR NYWA TUAT 792 YA ava i

5oy "2 IRT 'R RV "0 Nawa AN 7 av wsT "o MR v B a''7a
R A7 WM MR RDOD Nawa NIDI0T M NI 2 PR YWD 7IND®
RDWTYT KON 2"'205b m1mw nrswn KXY p''o% 10 ARy »''ma PR »''ya umw
2 DAWs RNWIT ARP N9 29797 D2 IR R ax [aan] 32 nwpah b
ROINY 77995 "07 NAW IRZIMAT TR AR D952 0w BT nawa nown Ank AN
AP RIORY 2T 0N 1AW 2P NS DWW PR 212 MWD AP AR MR
29 999 B2 M0 97 »''oR "' waeh nawa 'R 17 av YW Dan 1aphw 7evha annewn
7oA0 D' 12aNSWw 17 950 IINATR PIRTY WO AR 0 T e Dhoa an I XY 'R
AT FIRDIR WITIT DY QITYT DY PRMIRD P R 'Y PRWIPR 1T 25T v
ROR 12 1977 PABRR AR RDT7 WHRY WK 17N RDT nawa 'N2 ' av yhpn XY 'R

JP'1NTY PN 19T KD NAWa 7729V 21 DA aw N awn

RIAR PR .NAWA NPITY IR B DR 10 T RUR TP Dowa RDT PRIAD IR0t "as
WY TIVY QMW 2172 RAOK T 9WD MART ROIT 20 2192 RNONR TIRRT RO AR KD
799 1T RPN SITAR NYWA FTIRT M1 AW PRI 1IDY AR R NawaT 00 mwpny
W AR NYWA FOAT PR 1IDY AR PRT 21N IR 5790 J0rRnT PR YR
2T aRh

1) nnTpn

a) There is a 21’1 to eat anmnw 5w on 20 o
2) X

a) TYOR " MR ROW

i) onow that were vnwi on 21w o1 27 can’t be used for the mxn of arnw "W on
2w ar

ii) because nmnwy n2oRY DM5w nnan teaches that nnnw nywa anear 1°va meaning
that only n1a1p that were annw nywa vnwa can be used for amaw snow

3) 'R xn™2
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a) Inthe poo:
1) "maw IR DO L. 0N 2o nyaw”

(1) "mnw IR " is a ™20 that adds an 5w nnKT 20 v 2% to the oo nvaw
during which there is a 2n to eat nnnw now

(2) The "x" in maw IR N> is a vy n that the kn»12 applies to 2w ar 97
A OW WRIN

ii) Note that 'k xn»12 doesn’t explain why we prefer to apply the 21 to 0"y 5%
1R and the vwn to PRI v"d 55

4) 'axn»021says that we apply the »12°1 to AR v"y 9°% because 9% amnaw w° and we
apply the w1y n to PWwRAA " 2°H because 1197 AnNY PR

5) X

a) 7oRw

i)  Why does 'x xn>12 apply the »12> to pankn v 2% and the vy n to v"y 25
MR

b) n2wn — "mAws ana 1% PRT OWwR IRY"
i) Don’t you think that this is the reason
(1) 'x xn>>2 follows the mv>w of ATYoR " K X2 that annw nywa nnear 1vya
(2) It follows that
(@) for an 5w PRI W O O

(i) what was vrwi on 21 01° 27 can’t be used for W because that
127 wasn’t annaw nYwa unwl

(i) nor can there be nnnw with mi2ap that are vnwa on PRI V"> 5
because no n1127p can be brought at night

(b) While for an 5w pnka 2w ar 55

(i) m127p that were vrwi on A *yaw o were nnnw nywa vaw: and
can be used on 1R ©"Y 97 as annw ALY

c) wwp
i) Not necessarily

ii) It’s possible that ' Xn>>12 agrees with 'a xn>>12 that we apply the "2 to 9%
1IRT 20 01 because 17195 annw w and we apply the viyon to PwRaT 2w av 55
because 1197 annw PR

6) Mmoo
a) Xwp to YR " MR ROW
i)  Why do the mn»a rely on X to be w17 2w 01 975 vynn
i) When we already know from nrnwn nian that mnnw nywa nmnar j0va

b) y»n
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i) Without the 7w from T

(1) we would have derived from n%5x1 nran only that annw nywa amar w2 at
a time when it’s 7wok to be vmw a 73 — for example a person can’t on
WX 21 be X¥» his 21°1 with bW that was nnnw nywa xHw vnwion 1™
70°1 because it’s woRk for him to be vmw a 73037 on PR oy itself that’s
amaY nYwa

(2) And we would have said that for pwxa7 v"y 9°% when it’s TwsR X? to be
TARW NYWA aAn vmw— because we’re not MI17p v at night — a person
can be Rxv his nnw avn with on>w that were vnwa on 21w v 27w

i) But with the 712°% from & we realize that rnw nywa nnar 1°v2 applies also
when waxr RS

7) R"wann
a) Xwp to YR "M MR ROW

i) If annw nywa anear 1992 why does '2 8n°°12 need to explain that we’re 92 vynn
TMWRIT 2w 2 because 1197 AW PR

b) yn
i) Ay n somewhat similar to the y17°n of moaoin applies here too

(1) We in fact derive from n%ax) nnan that nnnw nywa anear 1°v2 only when
it’s "woK to be nnw nywa n21 and not on NwXIT 2w a1 »°% when it’s XS
TWOR

(2) The 7% from & teaches that pwxam 21w o1 2°% is nevertheless vwn R
because 197 annaw X

8) mwn

a) o0 MW A
9) xma

a) Nwp by a0

i) the first day of mow is often 1 on naw and if fnnw nywa nnear jva there will
be only seven days of nmaw

ii) because on the first day there can be no nr»ar becaue it’s naw and a o> that
was urw1 on 21 01 27 can’t be used because annw YW1 A7°27 1102

10) X"wnnn at W ok "7
a) Firstxwp

i) At :vo a7 the & relies for a different 171y on the fact that in most years ni>10
doesn’t fall on naw

i) why doesn’t 21 use the same 7711 here to answer his x°wp from the mwn of
aprauiyhitali

b) second xwp
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i) We established earlier that were it not for the vy°n of 7x the rule that j°va
Y nywa anar wouldn’t apply to A DWW NWRIT 20 0 2°% where it’s woR X7
to be oW vmw

i) We similarly established for 'a xn>>12 that the xnw» of 1°19% annw P applies
to an Hw PwRT 2w ar % only because of the vwn of an

iii) Now
(1) for an >w w01 that’s %r on naw it’s also WwoR X7 to be on>w vmw and

1°19% nnw PR but there’s no X to teach that annw nywa amear w2 even
where qwoR &7 and that 119% annw X is a XN

(2) So why does mooin in its Xwp assume that nawa Hnw an Sw W o
should be treated the same as a1 Hw PWwXI7 20 QY 9

11)°"wn
a) 'R ®n»12and '2 kn»a1 are amawh 7297 only for an Hw Nanka 2w o 0
b) but the last day of 21w oy that starts the next morning has no 177 of annaw
12) mooIn at Pk 2w ar % "
a) Nwp
1) If>"wnis correct

(1) then even if annw nywa an°ar v X7 there won’t be eight days of annw
when 1Anx 210 a1 falls on nawa X ov and an? *y aw falls on naw

(2) Because
(a) what was vrwi on naw 27y is 7°%2 9109 0N NNRT W O 9
(b) And in the daytime of nnx o there is no amaw 177
13) X"wonn at nnRa 2w ar »h Ay
a) Nwp

i) For the nv>w of »"w there are no eight days of innw regardless of when naw
falls during 2w or

ii) because on naw *x¥1 the on>w of naw 27w will always be 7172 7105 and on the
last daytime period of the eighth day there is no nnnw 17 at all according to
7]

b) y1n

i)  When naw falls on any day of 21 a1 other than the seventh day it’s possible to
answer that

(1) Although on naw >xx1n any o n>w brought on naw 27y is 72°22 7100
(2) still

(@) naw >x¥m counts as w2 because amaw nPw can be brought the next
morning
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(b) Proof is that

(i) although the min>>1a hold there can be no amaw sn%w on 2w o 2°7
AW PRI

(ii) the first 24 hours of 2y oy still count in full toward the eight days
of 7w and presumably this is because the mnnw *n%w that can be
brought on the morning of the first day of 21 o count also for the
preceding evening

ii) But
(1) when naw falls on the seventh day of 2w or

(2) the night of naw >x¥1 that’s 210 2 W PINKRT 20 0° 2°7 can’t count as
nnnwa based of nnnw *n%w that are brought on the morning of 2w ar
A 9w NN

(3) since "wn holds that no nnnw *n%w can be brought on the morning of o
39w PANRT 20

14) qwni of ®"wann
a) Nwp

i) The xwp by nmooin assumes that the seventh day of 21 o can fall on naw
which would mean that 7w wxn also fell on Sunday

ii) yet we know that wxa1"7% X2
b) v

1) moon speaks of a time when winn wp was still done by a7y & rather than
by nawn

c) wwp

i) even when wni wr°p was done by 077y XA

ii) 7"2was o»xn the o>7v to arrange that w1 1"7R R
d) yrn

1) 717 0" was o»kn the o7y only to see to it that 7w wia not fall on Wednesday
or Friday to avoid the two days of 1:naw naw that would result if 2195 o falls
on Friday or Sunday

i) But
(1) The reason we don’t want 7w:1 wx1 to fall on Sunday is to avoid having
X231 xwwya fall on naw in order that 729y Svann X5w

(2) And it’s possible that when there was w71 W 7°p by &1 the 17 n°a wasn’t
0>7y o8 for the wwn of na7y Hwa

57



LAY QT XY 71
IVNYY NOo9n a1 "w1 'X 27N nI¥xn 12TA AYOT X1AIO
"7 w27 "pa Y an A" ATy M atm

B'op MWD RO N T2 AH AN aws 120 "o wnww nosn 3''ra v"'whea
DRV 29977 MWI9T A3 7707 KD P PION 0D RITW PTOR PR 70 IPINRT 1907
Naw R 25YI2 M1 WD AT YR 1D MWD NN aws N20PT 2R KON
7 RD 11D U 29727 B Y25 1TV TOD AWD JUMR 2O7aT 95 92k 1Aap® WD
UV TR JIRPIAT 19D "D AN MDD IR WAR N TRLPIT wWanh ' PR

22'1ITY NAWR MWD NI SINT TODT TR0 NTT 190 3557 INDA AW 7T e

MDY RN RO FMINDD B0 TINM 9272 YUY 0D DY AR DRV 2 R 7''a
ban oD RS QAR POUY BOD RIT MR WY KD PIRWRT 21200 K'Y 2000 1997
SOPY I RD MIPVA TUOPYT 2R PV RO YW KD 1ARD 110 9PInT IR
N7 R0 2997 IR TR Y9IDRY TINK R DR BT RDID2 10D 1A 1T XD
ans M 219 IRPDTS K'Y 2MMRT NAwa Naw 29y YW DR YA mowT nIpunT

22" MIBoIN ARt Rwann

R R2TY 19INT2 99 7799 0D ORRRY 10 IMIRT JRY O 7 772 [R 7MY 2y 7]
TNIAR 20T IPIWT 'Y SIBR MM IPWAT 23 DY AR B''OY 0D MR PIIW 12 1YY
1272 7Y PR RD AR T RDR AN PR T RY 2''URT oD 2w 2vnR v

J9'"mY IARDT NPT RYANT MIN 72T KUY 70D SITW 20 7R 25102 KUK TIRN

192 OIRWT 7% NN V1T 302 720 1790 9% 20 R anD "D 905 v wd RO
TOPY D07 DWW YW TAND NIOWR RDT RUR 732 77 "0 RRDT I pw
YWY APIY 192 "' PRRRT RTINOND 9 XP0DT BN R DY "D TPy 7 XD niywa
M27 RUTY IR 12 WO T KT 20 NI VIVDY IR 272 W T KD IpwaT
AN IO KDT DPIANT T ADMTD MWD TIZR 272 P N7 BN N2 PRY NN
1272 5" naw Y AR PIAY ININD 950 RPR NI 92T ORI 1279 7w P2 phab
S9N 272757 DYDY IR TRV 2N STIRM 272 YU KUK anT R KD 7''ORY nan
I IO ' ARP ONMRY 1D IR RWOT MT KD N7 12N NMIDDINT 92T 1INaM
ARIAD WIBD IPTRT D' oY P IOW 2997 A1 INIAT 2T AR TR Y9IDR MONT N272
IR RSO0 721 RO P2 RAPYDT 92109 K297 9957 ''9 77199 210007 RORIPT POORT
TIORT M2TY 7MW WD 01T IR KD RIT IPIWY IPW P2 POAR MORT 270 mw
SIRORT RIT RORIPT AR NI 9272 YW KUK I KD DPIONT RITTT YLD WK
9272 YL T RDT 2957 PIYA RWIN2 77DRY NPIONT RO NN N272 0T 0
SIRH BTN TIIMA A1 RWONT RIAPING IR IPIDR RIIMY PanD 23102 20T RN
MISOINT AN 151 NPIITNT RIS NN WY RDODDY NI WY KD X2
DU IR 272 VMW T KD IR RO 7D IPINT ORNT MNP RURIPT RIN A

P
1) First nnpn
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2)

3)

4)

5)

6)

7)

a) MpirnT mwn at .ay a7 according to Nvaw

i) If there was a P1°n to be n on naw 27w and a °n to be Y on naw and a
person was %» the naw 27y 5w P°n on naw

(1) ywin " says the person is mw» from bringing a nxvn 127 because
(@) he was mxn 7272 nyw and intended to be an°ia 9 the naw Sw »°n and

(b) he also did a 17 9> mxn for the naw 27w Hw pi°n since after all the pin
became 7

(2) 7rvoox ' says the person must bring a nikvri 1277 because mxn 9272 "YW IS
2»n even if ¥17 92 mxn nwy

Second 7P
a) anod 2P is nawn nr amT if its avnw is 7ws

b) anoo 127p isn’t nawn R amT if its g nw is 7700 — if the vmw acted awa he needs
to bring a nxvmn 1297

C) onbw nuvnw isn’t naw M7 and if the vmw acted xwa he needs to bring a 127p
nxwn

Third 7P — potential onmyvw
a) here are the kinds of a°nmyu that count as a xw in this X*20
i) nn anbyn: that the day is naw
i) 71997 a0 nnbyni — for example 1107 %y that oon%w isn’t naw amT

iii) The person was v on a fact — for example he thought that a p2°n was 5w
naw when in fact it was naw 27w 5w or he thought that he was being vmw a
noo 1297 when in fact he was being vmw a o°n>w 127p

Fourth nnTpn
a) The potential myv in the mpwenT 7awn is a myvw in fact
Fifth nn7pn

a) When the mawn later refers to nos 121p that was mwH Ro5w vnwi — namely for oonbw
— the X3 means that there was an ";3py" from nos to on>w

b) When the mwn later refers to obw that were vnwa for nos 127 the X3 means
that there was an ";73°py" from oonow to nod 127p

Sixth nnpn

a) NXn2y 910 agree that there is an 77°py where a person is ny7» 7w — namely where
there was no myv in fact and the vmw intentionally intended to be apw the 129p
from oo to o now or from 5w to noo

Seventh fnTpn

a) There is a np12nn in mmn noon whether there is an 7Py where a person is pw
myva
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b) Later in this m2°7 we’ll analyze what constitutes Myva 7Py
8) sixth mnpn

a) amvv in fact can simultaneously
i) serve as the myv that makes a case on naw count as a »w instead of a 7ot
il) serve as the myv that makes a person count as a mx» 7272 7yv
iii) serve as the myv that makes a case count as myva 771°py

b) amywv on naw M 7A%YNI Or 1397 13AN ANPYNI
i) can serve as a myv that makes a case count as a W instead of a 71 on naw

il) but can’t serve as the myv that makes a case count as myva 7Py or asa v
mx¥» 1272

9) Ninth in7pn based on :20 77 and R"wnnn here at q1yox " A"y
a) If oon>w are vnw: for noo 1277 on naw then

i) for areason not relevant here 213°9x '3 says the 127p is 7109 and the nw nw isn’t
naw am7 and

(1) if there were any of the potential 2°myv that serve to make a case count as
a MW there’s a 21°1 to bring a nXwr 127p

(2) note that even a myv in fact won’t be 019 from nxwn for 21¥°9x '3 since
we’ve established that 213°%% ' holds that m¥n 9272 Mww is 20

i) ywir " says

(1) Although there was a naw 71%°n1 becase the 127p became a 05w j27p that
isn’t naw M7

(@) The nvnw is n>w> for a reason not relevant here

(b) If there was a mww other than a myv in fact the vmw counts as a aw
and needs to bring a nxwm 1277

(c) If there was a myv in fact then
(i) The case counts as a axw and still there is no nxwvn becaue
(if) The myw in fact makes the case count as a mx» 1272 7MW
(iii) The fact that the 321p is 7w> means that the vmw did a 177 92 mxn»
b) noRw

1) What if there was mwvwva 7°py in this case because there was a myv in fact and
we follow the X7 18 who says that 7Py X217 X9 nwwa 71°py

c) nawn for AmoR

i) rvHR " would agree that the 1297 is 2w> because it never changed from o nar
to noo 127 and it follows that "7 %5 mxn qwy" and that the nunw wasn’t m7
naw
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i) The case counts as »w based on whatever mywv happened to make the case
count as mpwa npY

i) the vmw needs to bring a nxvn even if the myv was a myv in fact because
we’ve established that 71y°%x ' holds that 71%¥» 9272 7y is 27917 and it’s of no
avail that 1777 %2 mxn nwy

d) mawn for ywi '

1) It’s a mwwo that for ywine " the 17 remains that there’s no nxvn 211 based on
the mwv in fact and 177 %5 mixn nwy

10) Tenth mn7pn

a) A oo 127p that was mw> X5w vnwi (meaning for onow) is 2100 for a reason not
relevant here

b) Obviously this applies only where the 1297 actually changes to a o°»>w 1277
1) Either because there was ny 77°py

i) Or there was myva n7°py and we follow the v w of the 2nKkT 87 that 7Py
T7°PY X7 MYL2

11) mawn
a) Rw™M
i) DRLA LY 21 NAWA [272WH MW7) MW KW WNWW noon
ii) This 17 applies both for ary°5x " and ywin '
12) xm3 as explained by >"wA
a) Nwp

i) Since there’s a 211 to bring a nkwn 127p it must be that there was an 77°py that
changed the 1297 into a o°»%w 127 and that the vmw was a aw

i) The mwn obviously holds that the case counts as a xw presumably because
there was a myv

iii) This is a xwp to the 7Kk 1871 Who says that 77°py &7 X7 myva 77°py and the
1297 remained a nod 129p that’s 2w M7

b) y1n
i) It’s possible that the mwn holds that 771°py &7 8% myva 7Py

i) And the xw»n deals with ny7» 7Py where there was no myv in fact and the
reason that the xw says the case counts as a AW because 71327 3nn In2yn
and we’ve established that 777°py counts as nyTn despite this 7Py

13) X"wmn at wnww nos 7"

a) “"wn could also have said that the xw»n counts as a »w and nyT» 77°py becaue
naw nn an2yna the same as °"wA says for another Xxn»°pIx that we’ll deal with
below
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14) qwnn of the nawn — part 1 of the 850

a) nawa nod aw® Junww o°narn %3 IR where the nwana weren’t 18 for nos 127 and
it’s not possible to make a myv in fact

b) ywin 'y agrees with ary°ox ' that the person is 2>n to bring a nxvn 129p becaue
any myv other than a myv in fact doesn’t count as a m¥» 9272 7YW

15)°"wn
a) ToRw
i) What myv did he make to count as a xw who needs to be bring a nxon
b) v n
i) naw wmn anbvni or wan mnbynl the 7250 that o°nar IRW aren’t NAW DX AM17
16) wni of the mawn — part 2 of the xo°0

a) nawa nod awb Junww o°nar 22 XY where the nwana were P80 for oo 12p and
the person made a nmwv in fact and forgot that he was already w>7pn this nna for a
different nar

i) 919K " says he’s 21 to bring a nkvn 129 and ywine ' says he’s Mo

ii) The npyorn is based on the two mp1onn between ary>ox ' and ywy ' at 120 77
and .2y 77 that were mentioned in the mnpn

(1) ywin " says wo because in the mawn of mpirn at .2y 77 he says that nyv
MWD 1T 93 MEA TWY M¥M 1272 and we’ve seen that yw7 " at 20 77 says
the case of o°marn 95 IXw counts as ¥17 25 MY WYY MY 1272 7YY

(2) 213°9% "1 says 27 because we’ve seen that YR " in MPNT 7Iwn says
¥ 1272 AV IS 21 even if 177 92 mxn nwy

iii) noxw}
(1) since there was a myv in fact the case counts as mywva 771°py and we’ve
established that the xn3 assumes that 77°py X717 X2 mvoa 79py
iv) mawn
(1) That’s correct and that’s why the 129 in fact continues to be a o»%w 127p

(2) But onow isn’t nawn nXk 7m7 and that’s why 213°9% ' says there’s a 2vrn
nxwvn and Y7 " needs to rely on 317 95 m¥n awyy men 0272 7y to
explain why there’s no nXvn 21’0

17) R"wann at onww nos n"7

a) Since part 2 of the xo°0 deals with where there’s a myuv in fact that for ywyi» "
explains why the case counts as m¥» 9272 73w

b) The same myw explains why the person counts as a xw and this is why >"wA here
doesn’t need to say that it’s becaue naw 1an TRHYNI Or 7097 1an Mnbvnl that the
person counts as a aw

18) X"wrn at R " "
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a) Nwp
i) To explain the 7v°w of 71y°9x ' that there’s a nXwi 21°0 part 2 in the Xo°0

ii) Instead of saying that ry°5& " says that m1¥»n 2272 7y is 2»n even if mxn qwy
79

iii) why doesn’t *"w~ explain more simply that
(1) based on the x 13 at :20 77 as discussed in the mnTpa
(2) the 312p is 7109 S0 1777 22 MM WY R
b) yn

i) We also established in the nw7pi that 2139 ' says the 1277 is 700 only if
there is an 7°py

i) And we’re now at a point in the X*10 where we say that the x9°0 deals with
myva 77°py and holds that 7Py X7 X2 mvva 70y

iii) it follows that
(1) for ary>ox "1 the person was 1777 25 men 7w the same as for ywind

(2) and that’s why >"wn needs to say that 21¥°9x "1 is 2>nn to bring a nxvn
because he holds that mx» 2272 7vw isn’t 70w even if 177 92 mxn nwy

19) qwni of the mawn

a) ryoR ' asked a Xwp to ywin " on why v ' agrees that in the Xwo there’s a
2rn to bring a nXwvn 1272 while ¥y ' in the X9°0 holds that there’s no 2111 to
bring a nxvn 127 — the precise X>wp that 713°9% "1 asks isn’t relevant here

b) ywin 'y answers that
i) Inthe xw" the person was nrw
(1) from o5 129 that’s a "Mna 127" and is naw nm7
(2) to o°n%w that’s a "o 127" and isn’t naw M7
i) While in the x2°0 the person was m1w
(1) from 5w that’s a MoR: 927 that’s not naw 7m7
(2) to noo 127p that’s a M 127 that’s N2W M7
20) qwnn of the X7
a) Nwp as understood by K"wAn
i) Why does v " need to set out this y17°n based on nrw
i) When we’ve already explained that

(1) The xw™ deals with ny7n “pw where there was no nmwv in fact and it
follows that there’s a nXwvr 2 even for yuwis® ' because the person wasn’t
XN 7272 7Y
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(2) While the &5°0 deals with myva 777y because there was a mwv in fact that
for ywr ' counts as a mxn 1272 7y and the person was also mgn Wy
177 %5 and it follows that the person is mws from bringing a kv 129

21) m»poin at "7 RY 87 7"7

a) In effect the X3 asks that in the xw> since there is no mx» 1272 mvw the 17 for
yw1 " would have been 2»n even if the case involved anwan 2277 arw

22) R"wAnn at "o s "7
a) Nwp

1) why doesn’t moo1n also explain that the x n3 also asks that in the x5°0 where
the person is m¥» 1272 7w the 7 for ywnr " would have been 1o even if
the case involved mox: 1272 nw

b) y1n

i) We’ve already explained that the & n3 is P71 the o299 of the 17 of 9272 7w
mxn from the mpienT mawn

ii) Now
(1) In the mponT mawn although there was no actual 1w from a mox 727 to a
2NN 927 @ MoK 127

(2) Still the mawn deals with a person who thought he was holding the »11°n
whose 17%°n is naw 7m7 and this case is more similar to a0 "27% 7w
than to 7oKR7 2277 71w

(3) And that’s why m»oin says that the X nx in its X>wp asks that the [awn
mpinT implies that even where anni 1272 nrw there’s a Mwd only if
there’s a myv that counts as mxn 7272 7vv

iii) But because the mpwn7 mwn teaches nothing about Mo 1272 nrw there is no
assumption that the mawn would say that mx» 9272 7y is 00 even where [rw
TIORT 127

23) qwnn of X"wann at v awh "y
a) Nwp

i) We’ve established from the mp°n7 mawn for ywine ' that mxn 9272 7vw is wd
from bringing a nxvr 129 only if 177 %5 mxn nwy

i) Why doesn’t the X3 suggest that the x> and the xo°0 both deal with 3
but that in the X he wasn’t 17 95 mx¥n nww while we’ve explained that "™
yw1i according to the & ma at :20 77 holds that in the &5°0 the person was 7wy
1T 9 MEn

b) v n

1) We’ve established that the X723 needs to say that the xwn deals with 77°py
ny7a where there’s no Myv in fact that’s necessary for m1¥n 7272 730

24) 5"wn
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a) Xwp to the X ma

i) Now that the mawn in the end mentions the point that the xw deals with nw
710K 7277 and the xo°0 deals with anan 2275 Trw

i) Now
(1) Why does the x7nx assume that the kw1 deals with nyTn 77°py and there
was no myv in fact

(2) When the x7n3 could instead say that the xw>- as well as the xo°0 deals
with where there was a nwv in fact and the 2vn in the xw> comes about
because MoK 727H nPW

b) v n

1) We’ve established that the Xw> needs to deal with nya 7Py for the KT 187
who says 7py X7 X2 mwva 70py

i) Because otherwise the 1277 remains a nos 1299 that’s naw am7

c) Nwp
1) At least in the x9°0 it’s clear that ¥y " is 10 based on mxn 9272 7w

d) y»n
i) Yes but in the x9°0 the person was a0 1272 Y

e) Note by the way that
i) 2"wann ends his xwp with these words ">n*anR 1w 5 »uws ywine ' v "
ii) "7 should be changed to 1" meaning "3:7 owm"

25) R"wmn
a) Nwp to Y"wan

i) The nvw of 2"wann doesn’t answer the X*wp of X"w1n to Moo at R &7 7"7
M7
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'‘mi TPV 2" TN

"D R"Y UPIT RMAT D'AR A RWITY "D WRDR 2" "D B atew 7''7a meen
T 'R MIDWRY X RPT INTI 2''¥2 'R DRI 2TR2 RRON2T 070 10T M R By
27 'R DWW 1T PRW 0 'Y DB ory KD ORTY RT2T Naws WN 'R nawa b

P'TI R " Bnb

1) nawn of mpien as understood by k1> °27 °27 for PR "
a) Rw™M
i) There was a p1°n to be » on naw 27w and a p1°n to be 5» on naw

ii) A person was % o7p first naw 27y naw >w and on naw he was » the Sw pin
naw 17y

iii) YW " is 77n that there’s a nRvn 211 because on naw there was no »°7 17 for
a naw Yw 71°n and it doesn’t matter that he did a 177 %5 mxn for the Sw mn

DAY 27y
YV " nawa Mo Naw 27v2 M
117 RDT 27N vy Hw "R naw Hw o o7p mw e vy v R

07 722 *7A7 hawa

nawa

naw 17va

w"va naw Hw om

b) w90
i) There is a »1°n to be 5» on naw nx and a p1°n to be % on naw
i) On naw he was naw: R v o

iii) ywie " is qvw because there was a »1°7 17 available for the naw %w »1°n and
it doesn’t matter that for the naws InR>w P1°n who was only seven days old
the person did no 117 92 mxn

Siratr et nawa m>n NaWw 272 Mn
17 RDDT 27N w"y YW 2"NRM naw Sw w1 oTp naw vy w"y Hw W™
07p 123 77 Nawa nawa naw 27va
w"va naw Hw oM
TIT RDRT 0D naws nR v NIV NAWR R W X0
X277 2"YXR nawa
1777 75 XN
2) mooin
a) Nwp

i)  Why not set out this alternate version in line 3 in the xo°0 for the same mp1n
as in the Xw> except that he wasn’t 2>7pn any 79 to naw 27w
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Siatr e nawa Mo Naw 27va MY

17 RDDT 27N w"y YW 2"NRM naw Sw w1 oTp naw vy "y Hw RW™

a7p 925 "7 nawa nawa naw 27ya
w"va naw Hw om
hinbaR alvliai-Rval
1777 92 MR

117 RIOKT 110D naws nR Hw N NaWw: NR Hw XD°0D
X277 2"YX nawa
1777 92 mn

'TT RDINT MWD I e naw e w''y hw IRRR NIDOIN ROWP
2% ow nawsa NB°02 Inp R

B2 TN M1 RONT
7

b) yn
i) Partl

(1) It’s more of a Xm21 to teach in the &5°0 as in line 2 that there’s a "o for
nawa naw: TR even though there’s no 117 92 Mxn

(2) While there’s less of a X121 that there’s a 7wo in the proposed xo°0 in line
3 where there’s a 177 25 my» for the naw 27w Hw p11°n who was nine days
old on naw

i) Part?2

(1) Note that in the xw»1 there’s also a Xn127 that there’s a nXvn 210 because
there’s no N2w3a 17 and it doesn’t avail that the 7%°» of Pawa naw 2wisa
1777 90 XN

3) X"wann

a) Mmoo in part 2 asks why *X3° "1 °27 for 7°k»n "1 don’t use the 77an7 in line 2 of the
following table as a case for the xw> where there’s a nXvr 21n

b) mooin answers that

1) X1 ' 27 prefer the actual xw> because it teaches that there’s a nxvn 211 even
though there was a 177 22 mx»n on naw

ii) while in the proposed 727 in line 2 there’s no 177 5 mxn on naw for the pirn
of naws 7R who’s only seven days old on naw

v nawa m>n NaWw 272 Mn
17 RDDT 27N w"y YW 2"NRM naw Sw w1 oTp naw vy w"y Hw W™
o7p 123 77 Nawa nawa naw 27va

w"va naw Hw om
TWWT XA VIR RN

117 75 XN
1T 8DWT 2 nR Pw 2''MR? naw bw o aTp NaARN NAWST MR D "IN KY IRBR NWp
=20 777 nawa nawa nawn naw amya Nw a2

naw b om aTp
N7 2% 2w w''ya
17 90 mn iy

STTT RDRT 0D naws nR v NI NAWR NR W XD0
X297 2"YX nawa
1777 92 MR

STTT RDRT 0D nawmw"y Sw maw e vy v Moo WD 123

R2XT 29 0°W nNawa RD02 *INP XY XA

IT 9 TINn 01

C) Xipon of R"wAnn
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i) The 7% in line 2 would be a pm7 anyway since neither of the mpwrnis Hw
naw 27 and it’s not 12non that a person would be 9 either p1°n on naw 27w
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ml IMuxa 2"t

IR TRV ROW 0D BY AR 1NN N272 YL MWIDT 10 M1 INWR2 1''7a [2 TRy 2 n7]
TUDT A0 H''D RN MIOHT MWD RDINT NPIINT PNOINR 0 WRN R Doy "1
TH'"PY Y2 NAWT MR DI TN '
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AY QT

NO'WUO "IN X7V 1VNY XNA

RITO17 RO K27 12 210D 2NTT7 1190 RVIWD PHIIRD ROW WA RN [R TRy 3 n7]
SMPDRD WART DIV INP 1ARD RPRT RWIIT 21N 1PIDIND RPWT RDIWONK DAY 710
TIA02 DAR TR RDOD ANT MM STINYTIR PIOR RDT 79 ROWP RDIONR KON 'R
NOWT RRO12 9957 902 KD IRAR 11290 7772 110 Dpbhpnast 91275 1990IRD R9RaT 101 waT
PPINT IRTI 2IAPWD AOD2 J2PT PV MORT RRINDT 2R W PN 7T 29 1w
PHDIND RPWT RDO02 DaR MODT INNR 1D FOTIT NN 27 KDY RIT 2B 10DT
T9'"mY 3290 12 DR DI0D MTOD M1 PRSP 0D 10T RAPIIRT

7wn
1 MW XOW 0NY RY™MT XYM
"1 HR Y PR | WM 29021 92 IR RW°77 RDD
pii7abal nos aw»
20 PEOIRD ROV R RDIDT R
plleb! RO 1HIRD Wnw ND°D7 DD

1792IRY

1) First nnTpn

a) nMana Hpopn on naw is s because the Hp%pn accomplished nothing
2) Second 7P

a) The w7 X9°0 is a XM because it sets out a np7nn between v Hx " and ™

yen

b) All other parts of the niwn are vws for reasons not relevant here

3) X
a) Nwp

i)  Why does the 7awn set out the 8507 X1 that’s vWw»

b) v

i) The mwn teaches x9°07 X1 because >7°X it needs to teach &9°07 X9°0

il) it teaches &5°07 X9°0 because *7>X it needs to teach Xw 17 X

C) it teaches Xw>17 X1 becaue it’s a In7pPn to KW 17 RD°0 that we’ve established isn’t

ehiv7ga)
4) X"wan
a) Nwp

1) The xw 17 Xw appears before the x5 07 &

i) Why doesn’t the xnx begin by asking why the kw7 xw™ is needed

b) y»n
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5)

6)

1) The xnarealized from the start that the xw>17 &2 is need as a TP to RD°0
RW™M7T

i1) But the X713 didn’t realize at first the y17°n of »7k that explains why the xw™
X9°07 IS needed

Xna
a) Nwp

1) inthe X9°07 Xw>1 why isn’t the person s from bringing a nxvn because the
v nw for 191X XPw that results in a 9100 1277 is in effect a 7712m2 5p5pn
because the v nw accomplishes nothing

X"wIn

a) Nwp
i) Why didn’t the X2 begin by asking this xwp to the xw»17 Rw™
i) And here

(1) the xwp isn’t that Xw>17 XW*1 IS a M ws but is that we don’t understand
the oyv of the xw»17 X

(2) so it’s not appropriate to answer that the 17 of xw>17 Xw1 is stated as a
TP to XWIT RDD

b) yn

i) Inthe xw 7 Xw» of wH X5w wnw where the 127 changed from nos to on>w
the v nw was jpnn that the an 17 changed from the an 1°7 for noo to the 17
an for oonhw

i) That’s why the &3 asked "32°n *&n" only to the x9°07 X9 of PP2I1RY RoW
where the 3297 didn’t change to o°»>w and the 2 17 also didn’t change
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MMIXD MAT? "IN

B92 7PN RDODT 70T 190 AR WP ONOR AR "D NG 2T 7''72 oo
12525 2''R2 TPIDRT YRR DA PIT ART WIAR M7 RDW IR D''OY 10 Pnsnna
TP'TY 'R WYY R R2IR IPON 772 9557 TN RDIN 29977 DR

1) nn7pa based on m»poIn
a) 7wnw " holds that 7Mama 5p%pn is 20

b) 72K " says for nwnw " that 771202 Hp%pn is 20 even for Mz Hpopn where PR
199871 12907 X

c) 1 ' says for Pwnw " that 7ana Hpopn is s for 2ma 9p%pn where 7973 PR
199871 12907

2) mwn

a) If P22x% ROw nawa2 wnw the 1299 is 7100 and the vmw must bring a nxwvmn 127p
3) X as explained by mooin

a) Nwp

i) For pynw " according to jam° " why is there a nxvn — he was jpn» nothing so
his nv nw ought to count as M3 Pp%pn

4) Tqwnn of mooin
a) Nwp

i) Why didn’t the &3 ask that in general for nynw ' if 3p°n X% there should
anyway be no nxun because the 719857 of v nw is 7512 7223 7K and Pwnaw '
holds that 719137 75°7% 7KW 79877 IS MWD

5) X"wann
a) mooin could have asked a similar ®wp to wax "
i) Xwp

(1) How can 172k " say for nwnaw " that 7712m2 5p%pn is 20 even for 5popn
T — after all the 5P%p is a 791% 79773 APRY 7987
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NXNil 1onY n" TN

Y 1Y Doy o MR TRy RD XD MWD ORRKR V'0 a0 "D KRR wnw 1''72
2P 1DRWNART 1D A1 IRV K'Y OKR TIDTR 01N MWDT "0 2%5Ya 1wwna mnand

AR PP RN R
1) mwn

a) If on naw a person is VMW a 119V NR¥AN 110D J27P the person is Mwd from bringing
a nRvI 2P

b) If on naw a person is vmw a r1od 272 and afterwards it’s discovered that 1Dwn
07°7° DX 0°ov2 the person is also 7ws from bringing a nxvr 129p

2) noRw

i) Is it possible that the 11ws from a nkwr 329p for n9> v NR¥H WY is based on
DR

3) 7awn
a) No
b) Because

i) the xma at :av 77 says that there ought to be a nxvn 211 where y711 3"nR?
0°%v2 10wnY because the case doesn’t count as an DX

i) and
(1) although the x7n3 there doesn’t say directly that the same rule applies to
190 NRYNN WY
(2) it’s 1anon that the & mx would apply the same rule for 79> v nR¥AN WY
4) X"wan

a) If mooin had asked its x*wp from "om° 7> NX 2292 PDWHY ’¥HI O"NRY " instead of
from "no7v nk¥nn wnw" and wanted to prove that the mws from nxwvn isn’t based
on oNR

b) the "x1 from 'a 7y would have been more direct because the X3 there says
directly that 121 ¥y711 72 9n& wnw doesn’t count as 01X
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B9y 1D DY2Y T PINA SNORY IMRDT 17N YD KT "D RYRON K12 "D 2w 7''a
TIPIY RANDRA 2% RARYD F2MPRR 1190 PINI PP MRY SNRT RIT D PR
D'y 0" TR M YT TIAT Y NN NN 1Y

5127 H9pH 29927 ano "'oY "D WK TP AT NOBR ORT 919 D Y 7'Na
AL E-H RN

"D ARY RITT RIP IOX PAT IN MIY RAT OR JOYVT KD "D 0N awNaT 1N 7''N2
1D 19T TR RO2M 1D 1MT DY JAN RIT 1MT VYRR RIP OAT TR TIRDD D'y
BY 7YY RO RNRY RAP 717902 12000 7772 191 aRNDM 27 19T 1yRh % RN
YAZYR 9721 2977 91 13977 12 IR 297 2WNR2 SINR IRLTAW 957 3915 977 "2 190

H'=Y ARNDMY ARD AT 7T W

74



2y 7
NNYyoL X0 T AT "M'wn

RO K27 B'"'oP 12 RE1TID N7 299 KPR XDV RI7 971 1772 9202 [2 7Y av n7]
RNYN25 79 3P FNPY WAT WD A9 2D UMW MRP 297 RIPIVATD MmD 1S

RN%9925 775 9P1RY 171 111127 920 7790V P2 RDT MARP RTMRA J2 RO 29 TUwsd
11979 50903 RIT 'Y 29 93998 1177 2''RT 9973

1) nntpn

a) The meaning of "7 py *va" and "7°py *va 2" in this X°*210 isn’t relevant in this
R"wIN

2) X
a) Nwp
i) It’s ynwn from a certain X that 27 holds that 77°py *va &
i) Yetit’s ynwn that a xn>>12 sets out certain 1°7 that’s based on 77°py *va
b) v
i) Actually both 27 and the &n>»12 say that 77°py *va
c) Nwp
i) X723 92 %01 " said that 7Py *va XY
d) y»n
i) Must be that both the xn»92 and 21 hold 7Py *ya RS

i) And for its 17 the Xn»92 doesn’t rely on 77°py *va but on a 17 of "7 whose
details aren’t relevant here

e) Nowp —"277 ROX XYL R OTR"

i) 21 says that for o»n *5va there is no »11°7 17 and the x°»0 here deals with 52
o”n

i) So you’ve answered nothing for 29
3) X"wann
a) Nwp
i) why doesn’t the X nx answer that

(1) the purpose of the y17°n of "7 was to support X3 92 81 " who says
outright that 7py *ya R

(2) and the yr2°n isn’t needed for 27 once we explained earlier that both the
Xn12 and 27 say that 7Py *va

b) v n
i) we prefer not to make a double npyorn between 27 and X713 92 8»n "
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i) namely first on whether 79°py *va and second on whether there’s a »11°7 17 for
o»n "ova
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N99 21 NN XX A"T

PHT 5" oY 1D ROTIZ WAWT PIADY RIT 2IMRIWT WY "1 KED 39 MR KIK 77''72
25U 1WA 10TV D YT RY ST 70D @D MWMT IR 93772 ORTIT NIP 2NN
=979 '35

1) mwn
a) 127 R°27971 MWD DT IR DY)V 1DWAY YT T INRD NAWwA [0 127P7 onw
2) R

a) The nmawn deals with where it happened that o°%va specifically were 239 the 1297
for noo 1297

3) R"wann
a) Nwp

1) there is no need to say that “In this case it happens” that the owner made
nop aw® unwY

ii) since we know that the nw nw was nos aw? since the vmw who brought the
1297 didn’t know until after the v nw that o7°7° nX 2°5v2 DWn

0°727 17K 7Y 117
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